H & 0l & AHS B Ml A

2: =xpa= SN SRE D

-

H: S AMHEE 25
Rl SX0e 24 EER=E)
AR .24 A . AA(SH) - HEAIY - HE=2 Of| AFOH ST Hnz=2
SErTArSRt T == B Ofl r =e
SXeA= 447,463,580 418,968,294 28,495,286
= 253,358,599
s 3,534,242
| 4,630,878
= 63,571,867
Al 122,367,994
SXZ 64,220,686 55,783,224 8,437,462
= 43,666,119
s 1,377,211
s 6,344,762
Al 12,832,544
SA dAEE 1= 2,367,557 2,600,033 N23,476
= 945
s 864,380
& 415,364
Al 1,086,868
sXo|g =4 2,367,557 2,600,033 A232,476
= 945
s 864,380
= 415,364
Al 1,086,868
S8 SEXSEE F& 22,059 26,339 A4,280
201 2| 7,339 7,339 0
01 ArR2eltl 7,339 7,339 0
O3 s 2220 LR AM2Z
6,339,000& 14! 6,339
OSFSEAHZII2HE FH|
1,000,000 14! 1,000
202 o4t 7,200 9,600 A2,400
01 =04 bl 7,200 9,600 22,400
O=XJ & =&
20,0003 x6H +60=2] 7,200
203 LR=&H| 7,520 9,400 21,880
03 A=A Z=XY| 7,520 9,400 21,880
OSXAH FE(2) 4,800,000& 14! 4,800
OSXIAIZ F=&(1) 2,720,000 14 2,720
Mol+= K& 2,300 2,600 A300
201 L2 | 2,300 2,600 A300
01 At 22|l 2,000 2,000 0
OMoli#s #zel 228 ¢
1,500,000 *14] 1,500
OMi*S 22X 2elHs
500,000& %14 500
02 E324Hl 300 600 A300




-

Az =108
MM =2 AR S

SN SRE D

=@t =X0Ig 24 (CH9: &S1)
M. RA B O9I(S) - ALY - BAS ol &t e HIDS2
OsUE Mol7E SXAIAE ALES
25,0002+ 12¢ 300
THOH S X3 At 9,600 10,000 2400
< 4,800
Al 4,800
201 =3 9,600 0 9,600
< 4,800
Al 4,800
01 AtR2telbl 9,600 0 9,600
OLYAIFHAIE QHHEXE & X
9,600,000 *14] 9,600
< 4,800
Al 4,800
4.11 28 &2 Mai+& XA 83,604 0 88,604
< 83,604
301 LtENZ 83,604 0 88,604
< 83,604
14 J|Et2 a3 88,604 0 83,604
O'23@ 4.11. 2E &2 0L 2z KA
88,603, 3202 *100% 88,604
= 83,604
ASISXIAIE SAR =X=¢ K& 110,280 104,160 6,120
< 22,056
Al 88,224
301 LRENZF 110,280 104,160 6,120
= 22,056
Al 83,224
14 DBt 2 a3 110,280 104,160 6,120
OMEBISIIAIE BAX XY XS (4HL)
110,280, 0002 *100% 110,280
< 22,056
Al 83,224
MIIZEXAIE SAHL MM 300,000 269,000 31,000
307 @lZtol & 300,000 250,000 50,000
10 MEISXAEHE2EHIEX 300,000 250,000 50,000
OAIRISXIAIE SAR SXEZE X
290,000, 0002 *100% 290,000
OAISISXIAIE AR SHHISE =8| XI&
10,000, 0002 *100% 10,000
AR SRID12E BAKF HLMES= X 23,400 22,200 1,200
< 4,680
Al 18,720
301 LEIEEZ 23,400 22,200 1,200
< 4,680




A= SXeR= A 0 SXNEHY
M =X dAAHE A=
el SX0e &4 EER=E)
AR .24 A . AA(SH) - HEAIY - HE=2 Of| AFOH ST Hnz=2
SErTArSRt T == B Ofl r =e
Al 18,720
14 JIEt2 43 23,400 22,200 1,200
OAM3BISXID2 SAK HMExE XIZ(5
HA) 23,400,000 *100% 23,400
= 4,680
Al 18,720
MBISXIAIE SAHR A2 ORI 12,125 10,150 1,975
& 6,062
Al 6,063
307 QI2Hol A 12,125 10,150 1,975
& 6,062
Al 6,063
06 283 12,125 10,150 1,975
OAM2=XAIE SAR AoiEE Ot K&
12,125,000 3 14| 12,125
= 6,062
Al 6,063
MNEIEX] EESRJ ADIEE 13,840 14,200 A360
201 2Et2 2 13,840 14,200 A360
01 ArR22ltl 10,000 10,000 0
O=XNEYESRA MENYY NRAS IS
10,000,000 & 14! 10,000
02 Z324l 3,840 4,200 A360
Ost8s AlZEXYgEE SUMs 23
320,000 123 3,840
CHAHADHE S8 X3 14,000 18,000 24,000
T 2,800
Al 11,200
301 LetENEZ 14,000 18,000 24,000
& 2,800
Al 11,200
02 ASIEEE 63 (HAAS, RYTHR) 14,000 0 14,000
OUAAILE SEXA(HESE2)
14,000, 0002 *100% 14,000
& 2,800
Al 11,200
SE0IEF0(Y IHF) XA 25,128 36,500 A11,372
T 7,538
Al 17,590
301 LetENEZ 25,128 36,500 A11,372
& 7,538
Al 17,590
02 AISI 2GS (FHAAS, RYTHR) 25,128 36,500 A11,372




A HEE

-

SN SRE D

MM =2 AR S

;F?_—i: S =4 EER=E)
AR .2 - HH . t:}.<,>_|(§|)1|) c NIEAIY - HA S Of| AFOH SEE Hnz=2
O=80I1€=x0l & T2 2 HEXNFS H
s X& 25,128,000 * 14! 25,128
T 7,538
Al 17,590
SE0IE=0XA XLgols 23 945 1,500 VANG'S's)
= 945
201 e 945 1,300 A355
= 945
01 AFS2teltl 945 1,000 AB5
O=80IE=CXA XNEEs 2+E
945,000 x 14 945
= 945
MIISR222 M XS (HEAIY) 398,848 502,248 A 103,400
301 LEt2NHF 398,848 502,248 A 103,400
10 AR 2RRQAZLSZ 398,848 502,248 A 103,400
OMZRRA B+
1,000,000 +27H+12& 324,000
OAM=222F 1=l
309,840&*15H*13] 4,648
OAIBIER23 WS
3,400 »27H+2502 22,950
OAISIERR3 SAl|
7,000& 27 H+250 47,250
2o JHISH KRA 18,000 18,000 0
307 212t01 & 18,000 18,000
11 AL S XA E X 18,000 18,000
OXHEH &5A 18,000, 0002 *100% 18,000
JHCISE A 23] XIJ 93,600 0 93,600
= 93,600
301 Et2EZ 93,600 0 93,600
& 93,600
02 MBIEZHGFS(HAANS, KLTHA) 93,600 0 93,600
OdlH st Zatdad X
93,600,000 *100% 93,600
= 93,600
KSXEE AlSIABIA EXTAIS (ME) 1,192,286 1,127,524 64,762
s 834,600
s 178,843
Al 178,843
201 ZeH22 ] 2,000 3,000 21,000
s 1,400
T 300
Al 300
01 Ar2eltl 2,000 3,000 1,000




-

2: =xpa= SN SRE D

MM =2 AR S

=@t =X0Ig 24 (CH9: &S1)
M. RA B O9I(S) - ALY - BAS ol &t e HIDS2
OXYIEE A2l MHIA SXALYE 23
2,000,000 %13 2,000
= 1,400
[ 300
Al 300
202 04l 386 1,000 A614
= 270
= 58
Al 58
01 204l 386 1,000 A614
OXISTE8 M3lMHIA EXTAIY 2Y of
Bl 386,000& %12 386
= 270
= 58
Al 58
307 @I2to| ™ 1,189,900 1,123,524 66,376
= 832,930
< 178,485
Al 178,485
05 eIzt = 1,189,900 1,123,524 66,376
OXNYREE A2l MHIA SXALY X1~
1,189,900, 000 » 1 1,189,900
= 832,930
< 178,485
Al 178,485
HUEDSH2ZHIRH™ AtS 42,542 51,551 29,009
= 29,780
< 6,381
Al 6,381
307 @lztold 42,542 51,551 29,009
= 29,780
< 6,381
Al 6,381
05 BIZt2IErE 42,542 51,551 /9,009
OXUANISHUEIRH AlY K&
42,542, 0003+ 14 42,542
= 29,780
< 6,381
Al 6,381
=22 22 & X 6,345,780 6,816,986 N471,206
[ 1,332,400
Al 5,013,380
28 - HH 22 4 6,345,780 6,816,986 N471,206
< 1,332,400




glE= A SXER
prel

2% 22l 2 XN
= 238 854 EER-E)
LA B - S9(E) - AISAY - BES of v e HIDE2
Al 5,013,380
Al XIS ALE 202,000 182,000 20,000
07 212401 202,000 182,000 20,000
03 PIHHEE 22X 202,000 182,000 20,000
Otet2I=4012Z2 dEAMAXE =24
20,000,000 *100% 20,000
Ol =d=ZHFZILEANZ 2
20,000,000 *100% 20,000
Oolsttl=d=2Z0ILIBEN 23
20,000, 0002 *100% 20,000
Ooletel=23+2 X2 EANE 29
20,000,000 *100% 20,000
Ot =NHMNELALEAINE 24
22,000,000 *100% 22,000
OZ=3dEAN= 29
20,000, 0002 *100% 20,000
Ot =SR2 =Szl 2SN 24
20,000,000 *100% 20,000
OL Az 2Y
20,000, 0002 *100% 20,000
O6.258 N =S A= E MG 24
20,000, 0002 *100% 20,000
OlfetI =88 2SN 84
20,000,000 *100% 20,000
atkt ol & X2 4,665,500 5,061,700 396,200
01 2etEd = 4,625,600 5,022,500 396,900
02 MBI 2HHSFHS(HAANS, XLHE) 4,625,600 0 4,625,600
O=It28U & 2202
150,000& %2,400F « 122 4,320,000
O=It=3A AHdRZ=S
200,000 *145% 29,000
OgZ Ocl2 =ItR3A /A&
30,0002 %110 +23] 6.600
OAMS HEFSA A =&
50,0002 x450 123 270,000
307 gl2to| & 39,900 39,200 700
04 QIHHAIAIH 2 £ 39,900 39,200 700
OS2 HAA| =dll
2,540,000 * 10 &I+ 100% 25,400
OHAXF=E A X2
4,000,000 *100% 4,000
OEZ==tM At 29
10,500, 0002 *100% 10,500
T ZAE0=E NA 936,000 972,000 /36,000
== 936,000
01 2EtE2d =3 936,000 972,000 236,000
= 936,000




2A

SXE 1

M 2OIEE 22l L XA
ol 222X 28 =4 EER=E)
42 RA - ZB . G9(3D) - HRAMY - BYS Ol & A HlmE2t
02 MBI 2HHSFHS(HAANS, XLHE) 936,000 0 936,000
OZ2x FdHu=< K&
60,0002 *1,300F 122 936,000
< 936,000
ZET 22EH+E X 392,400 381,600 10,800
< 392,400
301 LEtENS 392,400 331,600 10,800
& 392,400
02 MBI 2HASFS(HAAS, XNLHE) 392,400 0 392,400
OZex 22U+ g
60,0002 x545H 123 392,400
< 392,400
SEI18A 64,000 71,000 27,000
201 er23 | 56,000 69,000 13,000
01 AtR22te|Hl 18,000 25,000 27,000
OEEdA SAHI 3,000,000 14! 3,000
OB E8A 21225 M=
10,0002 *1,5007H 15,000
03 A2 I 38,000 44,000 26,000
OE&JI &AL 38,000,000& » 14 38,000
301 LEEEZ 8,000 2,000 6,000
1 BAREIXES 8,000 2,000 6,000
O=E2&AL X2 AMls & SEHI
8,000,000& 14! 8,000
2232 28 26,640 71,200 A44,560
201 fer=3| 26,640 31,200 24,560
01 At22t2l] 12,640 14,600 21,960
OAZAIE otEzte] U8 ==
180,000& ~ 122 2,160
ONM&ZHl gxt=2 600,000 x2CH*2 2,400
OAXYAE HLEE =2
600,000 14! 600
OHIINE AEBA =52
180,000& ~ 122 2,160
OFAL 20| BsXl2el
180,000 122 2,160
OFAL JIEH AIEE RXI2e]
180,000 122 2,160
OSEARE 2| 1,000,000 %14 1,000
02 S52g4l 14,000 16,600 22,600
O38AE=E e HaH
3,000,000 %14 3,000
OA& AIEdHl |l
3,000,000& %14 3,000
02222 2 HA 8,000,000& *14] 8,000




A= SXeR= 2A ¢ SXE
M ZEE 2el € XA
ol 222X 28 =4 EER=E)
AR .24 A . AA(SH) - HEAIY - HE=2 Of| AFOH ST Hnz=2
STrTATSRtE T == B Ofl r =e
HRI|g=E 2l 39,240 64,486 A25,246
101 eI t| 5,240 9,486 A4, 246
M IIZtHI22SEx 5,240 9,486 A4, 246
O&&EH| 1= 104,800& x5 10 5,240
201 Ler2 | 4,000 5,000 21,000
02 Z324l 4,000 5,000 A1,000
OdAIIEE FA2e
4,000,000 * 14! 4,000
401 AlEHIZ 20| 30,000 50,000 220,000
01 Al&HI 30,000 50,000 220,000
OdEDIgE 2 2 &l
10,000,000 & * 14! 10,000
OsEE FHlAY 20,000,000 14! 20,000
SEHeSA R 2zd| X 20,000 13,000 7,000
= 4,000
Al 16,000
307 gI2tol 20,000 13,000 7,000
& 4,000
Al 16,000
01 22 ¥ 3I=H| 20,000 13,000 7,000
O=gx3L & | 9=l XA
1,000,000&+20H*12] 20,000
& 4,000
Al 16,000
XS Atal SXDIgt = 2,700,600 2,193,000 507,600
= 1,290,000
& 193,131
Al 1,217,469
FOMETIE MHIA 1,640,200 1,079,000 561,200
= 1,290,000
& 171,000
Al 179,200
KIS AR AEIA HAHALS 8,200 9,000 A800
201 Lt | 1,000 1,000 0
01 At 2telt] 1,000 1,000 0
Os|LENAY 29 1,000,000 14! 1,000
202 04t 7,200 8,000 N800
01 2LHOLI 7,200 8,000 A800
O3Y=X g2 =&
20,0003 6 +60=2] 7,200
SEX XEA 1,612,000 1,030,000 582,000
= 1,290,000
& 161,000




A= =xoe=
R ENCIE BIERES

SN SRE D

CHelr FRIMERIE MHIA (SH &)
AR .24 A . AA(SH) - HEAIY - HE=2 Of| AFOH ST Hnz=2
SErTArSRt T == B Ofl r =e

Al 161,000
301 LEHBEF 1,612,000 1,030,000 582,000
= 1,290,000
& 161,000
Al 161,000
01 MBI EEAG6Z2(2DEZTHA) 1,612,000 1,030,000 582,000
212=X 1,612,000, 0002 *100% 1,612,000
= 1,290,000
& 161,000
Al 161,000
ARl 218XI3 ALY 20,000 40,000 220,000
& 10,000
Al 10,000
301 LEHBEF 20,000 40,000 220,000
= 10,000
Al 10,000
02 ANSI2EHE S (HUAHS, NSTHA) 20,000 40,000 220,000
Oxtat?l 2ISXI& 20,000,000 *100% 20,000
& 10,000
Al 10,000
EXANE 29 1,060,400 1,114,000 253,600
& 22,131
Al 1,038,269
SEAsIEN2 28 K& 628,000 628,000
307 QI2H0l M 628,000 628,000
10 AlSISXAEHE2EHIEX 628,000 628,000
OSgMz=X2 2 XA
628,000, 000& *100% 628,000
SEAEIEX 2 2el 6,000 36,000 230,000
401 AlEHIZ 20| 6,000 6,000 0
01 Al&HI 6,000 6,000 0
O35 AN&EE E)| HNHEH 89
3,000,000&*22] 6,000
SHE NDAREEEAM 22 74,400 63,000 11,400
307 QI2tol M 74,400 63,000 11,400
02 QIRHHAAIHE X 50,400 63,000 A 12,600
OSH8s KNIAMASHE AN 435t
2,400, 000 *21IH 2% 100% 50,400
11 Al =XAMEES 24,000 0 24,000
SHs 022X 28 At
24,000,000 *100% 24,000
KNGASI2ZEoAN 22 110,000 140,000 230,000
& 7,375




HEE

SN SRE D

2 NS Atel SXJE 25

otelr SAAE 29 (SH9 H2)
AR .24 A . AA(SH) - HEAIY - HE=2 Of| AFOH ST Hnz=2
SErTArSRt T == B Ofl r =e
Al 102,625
307 gI2Hol M 110,000 140,000 230,000
= 7,375
Al 102,625
10 Al SXAEHE2EHIEX 110,000 140,000 230,000
OXNZGAB EEE AN &-st
36,875,000 *100% 36,875
T 7,375
Al 29,500
OXISASISEXE oM &4 3H(AIBIFIH
73,125,000& *100% 73,125
M=EXE3 28 XA 110,000 105,000 5,000
= 14,756
Al 95,244
307 2Iz2+0l™ 110,000 105,000 5,000
T 14,756
Al 95,244
10 Al ZXAIEHE 2FHIEx 110,000 105,000 5,000
OAMzI=2XE2s 2 X3
73,780,000 x100% 73,780
& 14,756
Al 59,024
OM3ISXIE 3 2Y XIJA(AIBIZFEI)
36,220,000 *100% 36,220
JI=ZEds 2 X3 122,000 122,000 0
307 2I2+01 ™ 122,000 122,000
10 Al ZXAIEHE 2FHIE X 122,000 122,000
OLEZEEYWT 24 N&
57,000,000 *100% 57,000
OZENEEYT 29 XA
65,000, 0002 *100% 65,000
MNEISX] SHALKIE 10,000 20,000 A 10,000
307 gI2tol ™ 10,000 20,000 A 10,000
11 ASI=SXAIEE X 10,000 20,000 210,000
OAISI S X SHALKIA 10,000,000 *100% 10,000
IR ZMEEH 696,178 477,280 218,898
= 170,000
s 153,975
& 162,000
Al 210,203
HASE MEotd X2 696,178 477,280 218,898
= 170,000
s 153,975
& 162,000




AEVHEE: A =NE
Hu: BOD|EMESEY
el NaSS dg0d X2 (St &)
AR RA - ZH - E9I(E) - HRMY - BYS Ol &t e B2
Al 210,203
ANZT SehAtell2tel X3 15,000 15,000 0
s 7,500
Al 7,500
201 Ler2 | 7,500 7,500 0
s 3,750
Al 3,750
01 AFS2teltl 7,500 7,500 0
OLHE Atdl2elAtY 22|
7,500,000 14! 7,500
s 3,750
Al 3,750
301 LEtBEF 7,500 7,500 0
s 3,750
Al 3,750
01 ASIEEHEGZ2(2REZTHRA) 7,500 7,500 0
QLS Atdl2tel At X3
7,500,000 14! 7,500
s 3,750
Al 3,750
SEAtd2teIAt 2 X2 8,000 0 8,000
Fas 1,500
Al 6,500
201 ZEH2 & 800 0 800
s 400
Al 400
01 ArR2eltl 800 0 800
OSEAtdlZelAl geHEds X
50,000 *4H 43 800
s 400
Al 400
202 04l 7,200 0 7,200
s 1,100
Al 6,100
01 =B 7,200 0 7,200
OSEAtcllZel Al 2oLl XI&
550,000& «4H 2,200
s 1,100
Al 1,100
OSaARIZ2IAF 2UH01HI X1 (AIBIZI})
5,000,000 14! 5,000
SHs SEd SEAHIA XA 207,108 207,150 A2
s 144,975
Al 62,133




2: =xpa= SN SRE D
X Al
o

‘3%; ;1_:‘_5% QE%‘&TE INE=] (St &)
AR .24 A . AA(SH) - HEAIY - HE=2 Of| AFOH ST Hnz=2
SErTArSRt T == B Ofl r =e

201 22 103,554 103,575 A21
= 72,4838
Al 31,066
01 ArR2eltl 103,554 103,575 A21
Ostis &8 SeAdlA 23|
103,554,000 & 14! 103,554
s 72,488
Al 31,066
301 LEENSZ 103,554 108,575 A21
s 72,487
Al 31,067
01 MBI BEA6Z2(2DEXTHA) 103,554 108,575 A21
Ost=s &8 sEAdlA XA
103,554,000 & 14! 103,554
s 72,487
Al 31,067
X0k SAIMHIA KRR 3,430 3,630 A200
201 L2 | 3,430 3,630 A200
02 23244l 3,430 3,630 A200
O=2322 ¥ HAl 1,630,000 *1CH 1,630
Oxtg |l 1,800,000 «1CH 1,800
SAXRATAH = L 22 17,600 14,000 3,600
201 ZEH2 & 11,000 14,000 A3,000
01 Ar22eltl 7,000 9,000 A2,000
OJ|1R=2stedst dofIde 24
750,000 & *23] 1,500
Qoo MY AMSE HZ
100,000& 10 1,000
OJ|R=2stedst 2t BEE8 M
10,0002 *15024 1,500
O=XNXAE g= I+ ME
10,0002 *300% 3,000
03 @At2EH] 4,000 5,000 21,000
Olls Hole M SHMHAL
3,000,000& *13] 3,000
OA2IBSAL &AL 500,000& *23l 1,000
308 REXISHMSOIH 6,600 0 6,600
13 I 2SO & H 2 A I 6,600 0 6,600
Os|Z U= H el Y|
3,300,000 23] 6,600
HeA2HE =28 Nd 100,000 100,000 0
301 LEBEF 100,000 100,000
02 MBI 2EHE S (HUAHS, NSTHA) 100,000 100,000
Ooolgle Hs |28 XNJ(4, F=4)
50,000,000 *23] 100,000




A= SXeE= 2AM - SXEHY
M oD |ZMEEH
el NaSS dg0d X2 (St &)
A= - 24 - 3 - GRA(3AH) - HRAE - BES Ofl &F2H aes Hwusz
Ofl &2k
SNARANN 2= X2 5,040 7,500 A2,460
201 Zet=d] 5,040 7,500 A2,460
2 35234l 5,040 7,500 2,460
OSAARAN g= 82
200,000 * 122 2,400
OSEAtAIZEIA ERE Sl
40,0002 *4CH+ 122 1,920
OSAAZAN 22828 Sal
60,0002~ 1CH* 122 720
USAR O & 2eIHAH 25 40,000 130,000 290,000
= 20,000
< 12,000
Al 8,000
201 Zet2d] 20,000 66,000 246,000
= 10,000
== 6,000
Al 4,000
01 At22t2l] 12,000 64,000 /52,000
OL=AL 0g & AIZ A& 12,000
SAHE - At= 22l 5,000,000 *100% 5,000
= 2,500
== 1,500
Al 1,000
oY=IA K LEEF 7YY
5,000, 0002 *100% 5,000
= 2,500
< 1,500
Al 1,000
S USAL Y 82 - WFH|
2,000, 0002 *100% 2,000
= 1,000
< 600
Al 400
2 s5=34l 8,000 2,000 6,000
OZESH 28 M 2=
8,000,000:2 *100% 8,000
= 4,000
= 2,400
Al 1,600
301 LBtE S 10,000 24,000 14,000
= 5,000
[ 3,000
Al 2,000
01 ARIE2EHSFS(RRNEERTHE) 10,000 24,000 A 14,000




A= SXeR= A 0 SXNEHY
M 0| =MEEH
=?Hel: MASS HEoty X (St &)
AR .24 A . AA(SH) - HEAIY - HE=2 Of| AFOH ST Hnz=2
SErTArSRt T == B Ofl r =e
OAMIE DED7 M8 e XA
10,000, 0002 *100% 10,000
= 5,000
T 3,000
Al 2,000
307 QI2Hol A 10,000 40,000 230,000
= 5,000
& 3,000
Al 2,000
1 ASI=SXAIEEE 10,000 40,000 230,000
OAtsl2g 8y Z208 29
10,000, 0002 *100% 10,000
= 5,000
& 3,000
Al 2,000
MNEIBE EEXIATYE 23 300,000 0 300,000
= 150,000
= 150,000
307 QI2Hol M 140,000 0 140,000
= 70,000
T 70,000
11 ARI=EXAIEE X 140,000 0 140,000
OAI2E EEXAFSA AL
140,000,000 *100% 140,000
= 70,000
& 70,000
401 AIEHIZL 28I 120,000 0 120,000
= 60,000
= 60,000
01 Al&Hl 120,000 0 120,000
OAsI2E EEXNATE K32 JIsSE
A 120,000,000& * 14! 120,000
= 60,000
& 60,000
402 BIZHR=0l A 40,000 0 40,000
= 20,000
& 20,000
02 QIR AL B (01 & THE) 40,000 0 40,000
OAMIEE EEXAFE XA
40,000,000 *1CH*100% 40,000
= 20,000
& 20,000
XS Atal SXIAEI8 A5 1,363,790 1,234,500 129,290
= 18,345




HEE SN SRE D

;F?_—ii =0l ¥5 2 X (St &)
AR .24 A . AA(SH) - HEAIY - HE=2 Of| AFOH ST Hnz=2
SErTArSRt T < B Ofl r =e

& 1,149,720
Al 195,725
=0 25 2 XA 1,363,790 1,234,500 129,290
= 18,345
= 1,149,720
Al 195,725
=0 5 SAXE(=s2AE 2GR ) (MEAIY) 1,289,000 1,214,500 74,500
T 1,128,000
Al 161,000
307 QI2HO| A 1,289,000 1,214,500 74,500
= 1,128,000
Al 161,000
10 AlRISXAIEEHE 22X 1,289,000 1,214,500 74,500
OL=0Ad 29 X2
1,128,000,0002& 171 2 1,128,000
& 1,128,000
OL=0l HAIES L SelXSAF 21248 - 2
G| XA (AIHIFD}) 161,000
oL=0l AAIZSAF Q24|
53,000,000 2% 106,000
o 22| XIZ AL 2I24H|
55,000,000& x1H 55,000
et AIRS 1,500 1,800 A300
301 LetEEZ 1,500 1,800 A300
02 ASIEZA6IZ(HAAS, RLTHR) 1,500 1,800 A300
O#AX Ak ¢l 50,0002 30 1,500
=0 & SXXE 7,000 7,000 0
401 AIEHIZ 2018 7,000 7,000
01 AlEHI 7,000 7,000
OHN3ZE A= ED| etdZH
3,500,000& 23] 7,000
=% Zdldl K& 29,600 11,200 18,400
& 8,880
Al 20,720
301 LetEEZ 29,600 11,200 18,400
& 8,880
Al 20,720
02 MBI EZESGS(HAAS, RLTHA) 29,600 11,200 18,400
OSfANI SSEAYI 800,000&x37 29,600
= 8,880
Al 20,720
C=0AE JISEY ALY 36,690 0 36,690
= 18,345
= 12,840




IR

M XGAE SXIXE

SN SRE D

gt =
&l =0 B & K& (CH9: &S1)
U A - BH - ERIE) - HRAY - BES of &4 e HIREY

Al 5,505

402 QI2FXE01H 36,690 0 36,690
= 18,345
[ 12,840
Al 5,505

02 QIEX 2 AL E X (0IETHR) 36,690 0 36,690

OL=0A4 xt& 2 K&

36,690,000 *1CH*100% 36,690
= 18,345
[ 12,840
Al 5,505

DIES S-S, 47,536,617 39,206,781 8,329,836
= 42,186,829
= 200,420
= 3,092, 147
Al 2,057,221

NASE A28 X2 42,945,893 34,978,606 7,967,287
= 38,421,006
= 2,974,586
Al 1,550,301

A= 42,188,330 34,267,000 7,921,330
= 37,969,500
< 2,953,180
Al 1,265,650

301 LEEE S 42,188,330 34,267,000 7,921,330
= 37,969,500
< 2,953,180
Al 1,265,650

01 ARSI EE A6 (2 REXTHR) 42,183,330 34,267,000 7,921,330
OdASN 42,188,330,000& * 14! 42,188,330
= 37,969,500
e 2,953,180
Al 1,265,650

SH&H/ HHSK 305,797 250,000 55,797
= 275,217
[ 21,406
Al 9,174

301 LEIENEZ 305,797 250,000 55,797
= 275,217
= 21,406
Al 9,174

01 Al EEATZ2(2DEZMR) 305,797 250,000 55,797
Odli &t/ HHI= 0 305,797,000& *14] 305,797




AR =xeH A =NE
B ) EMSEE
el NASE M228F K (SH &)
AR RA BB O(SH) - MSAY - BAS 0 &y e HIRS2
= 275,217
T 21,406
Al 9,174
ME=s=10:IE=PIESFSPNIe)) 27,357 26,317 1,040
308 AHXISHHMSOIN 27,357 26,317 1,040
08 WRI|ZAHUStEE 27,357 26,317 1,040
(@IME=2=10;] 27,357,000 *100% 27,357
=22 | 176,289 176,289 0
= 176,289
201 Let2HH| 176,289 0 176,289
= 176,289
01 AtR2teld| 176,289 0 176,289
OFe =TI (SHY)
176,289,000 * 14 176,289
= 176,289
NAS=x0l HAEBEZ XA 210,000 210,000
307 CIZ2tOI M 210,000 210,000
05 QIZIRIE = 210,000 210,000
ONAS=0 HABEZ XA
17,500,000 * 1290 & 210,000
NASSE MEoHY K& 28 3H| 4,000 6,200 N2,200
202 04t 4,000 6,200 N2,200
01 Z2LHOHI 4,000 6,200 N2,200
OJIEMBETAS ZFOIY|
20,0003 x4H x502] 4,000
SXHAX ZAF 2E&H| 34,120 40,800 6,680
201 Let2AH| 21,120 24,000 N2,880
2 332g4| 21,120 24,000 N2,880
OsUNSMNEZ 40,0003 #4CH* 123 1,920
OSXNUHAX SXIA 2ES2(RBLZ,M5)
1,600,000& 122 19,200
202 O4d| 13,000 16,800 A\3,800
01 ZLHHI 13,000 16,800 A3,800
OSEEA2CIE R FR0I
20,0003 * 138 *503] 13,000
A& Xg Jlet =4 4,590,724 4,228,175 362,549
= 3,765,823
g 200,420
T 117,561
Al 506,920
a2 ZAIY 2,604,500 2,304,080 300,420
= 2,344,050
& 78,135
Al 182,315




D EAgEA= fA

PN =N

D ENE Jlg 24

SXE 1

AZ 24 - 3H - () - HRAY - BEZ Oi &K gﬂg% Hus2t

307 212t01 & 2,604,500 2,304,080 300,420
= 2,344,050
[ 78,13
Al 182,315

11 AlSI =2 XA E 2,604,500 2,304,080 300,420

OXEZ22 AL (S *)

2,604,500,0002 *100% 2,604,500
= 2,344,050
[ 78,13
Al 182,315

XX2HE 2 488,076 465,489 22,587
= 341,653
Al 146,423

307 2I2t01 & 488,076 465,489 22,587
= 341,653
Al 146,423

10 AlBIEXAEEH2EHEX 488,076 465,489 22,587
OXY R 2 488,076,000 *100% 488,076
= 341,653
Al 146,423

KHEtAr 22 31,477 30,707 770
z 22,034
Al 9,443

307 2I2t0I & 31,477 30,707 770
z 22,034
Al 9,443

10 A EXAEEH2EH2X 31,477 30,707 770
ORtEt AL 22 31,477,000 *100% 31,477
Fa; 22,034
Al 9,443

x|;ﬁx+§ AEIABIA SEXAFY (DEAIZFSE 22X 2 AL 254,838 235,943 18,8%
z 178,386
< 38.2%
Al 38,2%

307 2I12t0|& 254,838 235,943 18,8%
= 178,3%6
< 38.2%
Al 38,2%

05 QItRELS 254,838 235,943 18.8%

OJtAlHE g2 X2

254,838,000 14! 254,838
= 178,3%6
< 38.2%




A= SXgA= A SXEHL
M J|zMEEH
el XA Jlgt =4 (SH9 H2)
AR .24 A . AA(SH) - HEAIY - HE=2 Of| AFOH SEE Hnz=2
Smo AR e T == B Ofl &k ==
| Al 38,226
KA =804 5,700 3,600 2,100
201 =3 2,700 0 2,700
01 At22t2l] 2,700 0 2,700
OXE| 2SN e
70,000 x5 *22] 700
OXEAY E2HI 2,0002+1,000% 2,000
202 OH| 3,000 3,600 2600
01 =LH0iL 3,000 3,600 2600
O XYL =80
20,0003 »3& #502 3,000
HRATE AEAEXE 6,000 6,000 0
< 1,200
Al 4,800
307 212t01™ 6,000 6,000 0
< 1,200
Al 4,800
11 MEI=SXIAEEES 6,000 0 6,000
OXHEAIHA A |2 SSZ A2
6,000, 0002 *100% 6,000
< 1,200
Al 4,800
2esdJsrS A S-SR (A EAIY) 1,200,133 1,182,356 17,777
= 1,080,120
Al 120,013
307 212t01™ 1,200, 133 1,182,356 17,777
= 1,080,120
Al 120,013
05 eizte(& = 1,200,133 1,182,3% 17,777
O2zsz eSS (E
M) 1,200, 133,000 » 14 1,200,133
= 1,080,120
Al 120,013
HY2AHH(SXFE2D) 421,504 414,814 6,690
= 158,436
Al 263,068
el 2| 178,312 175,504 2,808
= 69,156
Al 109,156
SEAEIZEIAL 21AH] XIZ(SRE 212H]) 175,912 175,504 408
Fs 67,956
Al 107,956
101 e124d| 156,112 152,904 3,208
= 58,056




AR =xeH A =NE
. HY2IZU(SXEF
chol: ol CCRE)
A2 2N - FB - O9(E) - HIRAY - BES Ofl b Ce HDS2
a=- 24389 - 45 * Oi ko =
Al 98,056
03 SRH(RINHS) 22X 2+ 156,112 152,904 3,208
OSEAtellZelAr et K&
38,704,0003 3% 116,112
s 58,056
Al 58,056
OS&ErAtdZ2| AF 1248l XI& (AIBIEI})
40,000,000& 1 40,000
N4 HAzREIS 19,800 19,000 800
= 9,900
Al 9,900
NEESTEE 8,000 8,000 0
OSEAIZ2IAF 201012 1|2
8,000,000& » 14! 8,000
s 4,000
Al 4,000
02 FAHAEEHZ 6,800 6,000 800
OSEAtdlZelA 2283 X
6,800,000 14 6,800
s 3,400
Al 3,400
M SRAE(RINHS) 22X BE8€28E2 S 5,000 5,000 0
OSEAtelIZ2lAF DSATH X
5,000,000& » 14! 5,000
s 2,500
Al 2,500
EAFHE0IH 29 2,400 0 2,400
s 1,200
Al 1,200
101 eI H| 2,400 0 2,400
s 1,200
Al 1,200
03 SRA(RINHS) 22X 2 2,400 0 2,400
O AHHIOIN +&
200,000 x 15+ 12& 2,400
s 1,200
Al 1,200
olA2EH|(2Z) 162,440 142,510 19,930
= 89,280
Al 73,160
SlZ S AH(AtHIZ2I M ZHIAHINA) 162,440 142,510 19,930
= 89,280
Al 73,160
101 @I 4| 144,940 132,694 12,246
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HEE

—

L IS AAH|(SNZD)

SN SRE D

AR .24 A . AA(SH) - HEAIY - HE=2 Of| AFOH ST Hnz=2
STrTATSRtE T == B Ofl &k o se
202 Ot 10,880 15,200 A4,320
01 =WHO4bI 10,880 15,200 24,320
OJlzgR==a o
80,000 *34H *43] 10,880
203 YR =&H| 11,000 12,220 21,220
01 J|22H YR F=AH| 5,600 7,000 A1,400
OJ2A2IHRFH 5,600,000& * 14! 5,600
M PA2IHRFAL 5,400 5,220 180
ORN2IHR2FA 450,000+ 128 5,400
MHeas(EXNE2 2,788,660 2,839,830 251,170
LHEHH K= 2,788,660 2,839,830 251,170
LHEHeH K& 2,788,660 2,839,830 A51,170
701 JIEt2l HISEHES 2,788,660 2,839,830 A51,170
01 JIEt2I H N =S 2,788,660 2,839,830 A51,170
O2d=220II=SE3H 8=
2,788,660,0003 14 2,788,660




H & 0l & AHS B Ml A

AR =109z SN QIRItED
A oIPHH FX Y BN X2
ol QI E 2N (&9 M)
AR .24 A . AA(SH) - HEAIY - HE=2 Of| AFOH ST Hnz=2
STrTATSRtE T == B Ofl &k o se
OIAJI= 1t 17,493,271 20,678,544 23,185,273
= 4,225,285
s 355,569
| 4,279,623
T 1,700,012
Al 6,932,782
QIREA =X Y NME4 XA 2,488,400 2,416,300 72,100
= 1,527,000
& 204,000
Al 757,400
oIz 31,900 309,800 A277,900
IREM 2IAH| 4,900 4,800 100
202 o4t 3,300 2,800 500
01 =WHO4 bl 3,300 2,800 500
OQIEH HRFL ol
20,000 *3H *553] 3,300
203 PR =&H| 1,600 2,000 A400
03 Al Z=AIHRZXH| 1,600 2,000 2400
OQFIIED AHFH
1,600,000 * 14 1,600
olRsed| AIFE 27,000 305,000 A278,000
201 Let2| 8,000 5,000 3,000
01 ArR2eltl 8,000 5,000 3,000
Oget===H| 8,000
oEE2= M 10,0002 *500% 5,000
o& =0 & 100,000 *300H 3,000
207 ARIHLH| 19,000 19,000
01 ¢ EGH| 19,000 19,000
O 7E9H| 19,000
cXNLAEUSIIS FEXNAHE =8 EEY
19,000,000& 14! 19,000
HEA XA 2,456,500 2,106,500 350,000
= 1,527,000
& 204,000
Al 725,500
A2t SAKA ABIA 420,500 480,500 260,000
301 LetEEZ 420,500 480,500 260,000
02 NS EZASHS(HAAS, XLTHA) 420,500 0 420,500
OsdXE=s & dSHIXR 420,500
= X THOt 300,000 *550H 165,000
o E MOt 500,000& 350K 175,000
oAlITHOL Ol &t 1,000,000 +80H 80,000




A RIS

Mo REM EX 3 HEM KD
o9l B N (ehol:®el)
AR .24 A . AA(SH) - HEAIY - HE=2 Of| AFOH ST Hnz=2
8% FM- 358 N &5 = of o s
oH(h =@ 2
250,000 x2H 500
HEH0lEd XIFAAS 2,036,000 1,626,000 410,000
= 1,527,000
& 204,000
Al 305,000
308 AHXIHMSOI & 2,036,000 1,626,000 410,000
= 1,527,000
= 204,000
Al 305,000
13 I 2SO E &R E AL 2,036,000 1,626,000 410,000
OZMOIE BI2H X2
2,000,000 *1,0185 2,036,000
= 1,527,000
= 204,000
Al 305,000
e =X 8& 12,449,070 11,839,349 609,721
= 2,624,285
= 355,569
| 3,910,222
& 1,406,976
Al 4,152,018
SHES - HgAASH 1,406,178 1,576,2% A170,118
s 355,569
& 383,886
Al 661,723
LHES - HEHASEIAMY 2E3H| 3,900 4,200 A300
202 o4t 3,900 4,200 A300
01 =WHO4 bl 3,900 4,200 A300
OWdEM HRFA (H|
20,000 *3H *653] 3,900
Aol At2I&0 & ¥ S 30,860 47,360 A 16,500
201 2| 12,360 11,360 1,000
01 ArR2eltl 3,360 3,360 0
Oo2g==< 3,360
CUNBE(DIZ2R)FIHS BHSY
70,000 x 12 +33] 2,520
odEIderE I}t QI3 A
70,0002 6 H 23] 840
03 SAt2GH] 9,000 8,000 1,000
OMoIXEEN U SHBSTIRIRIY 2
= 9,000,000 14 9,000
301 LetEAEZ 1,000 1,000
11 HALAHIXIE 3 1,000 1,000
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AR =1z SN QIRItED
M e =X 38
ool SNBSS - HEAASE CERE)
AR .24 A . AA(SH) - HEAIY - HE=2 Of| AFOH ST Hnz=2
STrTATSRtE T == B Ofl &k o se
Ositds =2 &l
5,300, 0002 *100% 5,300
HARISIEAl =4 83,008 77,720 5,288
201 Ler2 | 46,208 45,220 9838
01 At 22|l 34,080 36,980 A2,900
OWMEISTAITLE ARG Ea 4
70,0003 x 128 +23| 1,680
OUHESEAl EES M
2,500,000 14 2,500
O3=stE4A odeoraylad | 2+
21,900,000 & * 14! 21,900
OLSANSE XHED| 2|
8,000,000& » 14! 8,000
02 2324l 10,528 6,240 4,288
OZ=3&EA HYetuHIAH SAeZ3
8,0002 68 A+ 12& 6,528
OL=Z HATSAIY Ald= 2l
4,000,000 14 4,000
03 ALZ | 1,600 2,000 A400
OUWARSITAl ABIEH /I35 L 2tE3
1,600,000 * 14 1,600
301 LetENEZ 16,800 12,500 4,300
11 HALAHIXIEZ 1,800 2,000 A200
OULZISIEAl 2N - e 2S ¥ WS
2 1,800,000 14! 1,800
14 JIEI2 &3 15,000 10,500 4,500
O EZSIEAl AIRIEHE &5 Bas
20,000 *30% 253 15,000
401 Al HILS0HY| 20,000 20,000
01 Al&HI 20,000 20,000
O&gR MY o=t =
20,000,000 * 14! 20,000
MIIZSXIAE BAX SR+ 106,920 102,360 4,560
& 21,384
Al 85,536
307 QI2tol ™ 106,920 102,360 4,560
& 21,384
Al 85,536
10 Al SEXAEHE2EHIEX 106,920 102,360 4,560
OAM=XAIE SAR SX=E
106,920,000 *100% 106,920
T 21,384
Al 85,536
MHE XIE2E 539,619 556,286 216,667
= 355,569
& 36,811




 EE

A RIS

Ha: 08 =X ST
o9l UYHBS - HEHAST (el mel)
AR RA BB B(S) - MBAY - B Ofl by A HnE2
Al 147,239
307 L1201 529,619 556,286 16,667
2 365,569
= 3,811
Al 147,239
e N EEES 539,619 556,266 A16,667
OZALENS HAXRAL
539,619, 00021 100% 539,619
2 365,569
= 3,811
Al 147,239
MUHIEl SARE H2HS X2 35,040 34,680 360
= 17,520
Al 17,520
307 Q1201 35,040 34,680 360
= 17,520
Al 17,520
e NEEES 35,040 34,680 360
OMLME ZAX MM X2
35,040, 00021 ¥100% 35,040
= 17,520
Al 17,520
Ol&RIZNLNIE 2Y 217,691 215,170 2,521
= 108,846
Al 108,845
307 BI2+01 217,691 215,170 2,51
= 108,846
Al 108,845
W NEEEECIEES 217,691 215,170 2,521
OO &QIZIILHE 2
217,691,000 ¥100% 217,691
= 108,846
Al 108,845
0l PHBS SENH 295,030 455,200 ~160,170
= 179,530
Al 115,500
301 Y EFZ 231,000 390,000 159,000
= 115,500
Al 115,500
14 JIEH2 A2 231,000 390,000 159,000
OFALTOIHS PRES NS
231,000, 0002 ¥100% 231,000
= 115,500
Al 115,500




AR =1z SN QIRItED
M e =X 38
ool SNBSS - HEAASE CERE)
AR .24 A . AA(SH) - HEAIY - HE=2 Of| AFOH ST Hnz=2
STrTATSRtE T == B Ofl &k o se
307 QI2HOl A 64,030 65,200 A1,170
& 64,030
11 Al =XAMEES 64,030 65,200 21,170
OZYENLds SEXJ 23|
64,030,000 *100% 64,030
& 64,030
OHASIE A AIRIZEAIE 24 1,590 0 1,590
= 795
Al 795
301 LBENZ 1,590 0 1,590
& 795
Al 795
14 JIEt2 43 1,590 0 1,590
OSHMBIRAl AIQIZAIEH 29
1,590,000 14! 1,590
& 795
Al 795
HEAASE A 821,312 861,561 A40,249
| 292,433
& 150,129
Al 378,750
=AML L ok 2SS 42,500 48,400 A5,900
201 L2 | 12,400 13,400 A1,000
01 At 22|l 10,000 11,000 A1,000
Os2= M# 3,000,000 14 3,000
O0ts - Hd ™ X 22
2,000,000 14 2,000
O=g ogus =d 1,000, 000& *53] 5,000
02 E324Hl 2,400 2,400 0
OOIEAEL S HlaY el 248
600,000 47K A 2,400
307 gI2tol ™ 27,100 23,000 4,100
10 AlZISXAEHE2EHIEX 12,400 8,000 4,400
OdlisH 29 8,000, 000& *100% 8,000
OULAASTAIE SALA SE2st X2
4,400, 0002 *100% 4,400
1 ARSI =XAIEE X 14,700 15,000 A300
OJNH=E - 4= - 45|12 - HOH0H oy
EINE:] 5,000, 0002 *100% 5,000
ONE=SUINAESAIE OtS S
700,000 *100% 700
Oongzgiltd2g 9,000, 000& *100% 9,000
402 IZERH=0IN 3,000 12,000 A9,000
01 QIZFXHE AL B (KR THE ) 3,000 12,000 A9,000




L =102
Lol =X B3

A RIS

T e (cie) 29
4224 B GR(EH) - MISAY - BaS o e Zes HDE2
OIiEES 4o4 2oNE (0S92
3,000,002+ 100% 3,000
T PEVE 1,000 5,000 5,000
101 2121t 300 0 300
BT Er 300 0 300
om0 AN BATH 227 24
300,0002114) 300
201 2Er2 g 700 5,000 5,300
01 A2 22l 700 .00 300
Omstol Al44 B2l 700, 00021+ 100% 700
SIEESTNA SEAE A 198,620 219,306 25,686
5] 135,534
c 29,043
A 29,043
307 21210/ 198,620 219,306 25,686
5] 135,534
= 29,043
A 29,043
e CEEEETEES 198,620 219,306 25,686
ONBEATBT BEAE 2
198,620, 000!+ 100% 198,620
5] 135,534
= 29,043
A 29,043
SIEESIHN 2EME 29801592 1,300 5,500 74,200
5] 650
= 325
A 325
402 ST =0 & 1,300 5,500 74,200
5] 650
< 35
Al 35
02 SR A=A B E (01 E M R) 1,30 5,500 4,200
ONHZHHT BB JIs2
1,300, 00024100% 1,300
5] 650
< 325
Al 35
SIHELHN SEAE SIS (HI42 40 8,600 8,000 600
5] 8,600
01 2urEE 8.600 8,000 600
5] 8,600
REEEEES EICREESEY 8,600 8,000 600




L =xee=
Do =X 58
D GARASE ALY

A RIS

(EHol: &9)
AZ - 2A - FB . OI(SH) - NRAY - BES 0 & A HIRE2
ONIEZAWSHA ZBAE HIF2A 40|
8,600, 00024141 8,600
p 8,600
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a2 =xpa= A T ZRE0RID
mE: Lol =X B3
el SXAIE 22| (CHol: &S1)
AT 24 B SRAE) - NRAY - BES ol ke dles RS2
O i OO R g = Ol &F ==
ORI +=(x=2l)
2,200,000« 1H 8 17,600
Ostet MI=&Y oL
95,2003 x5 H *43| 1,904
01 LEH2HH| 286,356 340,406 A54,050
01 ArR22ltl 219,752 177,400 42,352
Oget=2| 47,480
oot 25 & StEX 7Y
4,000,000 14 4,000
oEEE Y BHUMA
2,000,000 14 2,000
CANRESTY 3,000,000 14 3,000
oEZEIME ME 1,500,000 * 14 1,500
YA ASH U £2F 014
500,000 * 14! 500
XEHA=EE 20,0003 x4E+ 128 960
cHAFHI 7A2eltl
1,000,000 * 14! 1,000
o3|l AR 1,000,000 * 14 1,000
oERNA ABE 100,000« 12& 1,200
oHiS, &) 223 100,0002 * 12& 1,200
oYRE ARE 100,000& *12& 1,200
oXZA SCXZH ARS
200,000& 123 2,400
oYRAY ADE 4,000,00024%14! 4,000
oIz 22| & 2Y AEE
200,000& =123 2,400
o=X& I+ ¥ &I =7l
200,000& 123 2,400
oHALXIE Y XH| 600,000& *23] 1,200
oZ)| HE AEE
60,0002 8CH*12& 5,760
o QOISR AE AIEZ
95,0003 #4CH* 123 4,560
=oZJIEED| HE A EZ
60,0002 *10CH* 122 7,200
OZtelE9d| 67,272
oBA0I3 8%(21)
51,000,000& *14! 51,000
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odI|otXM2e| THE =22
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cH2I 2% UMD
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Os&sk= € MA 54,168
ocMIIE=s 2,000,000 128 24,000
oM MANEZ 100,000& »12& 1,200
oMBlEERE 400,002 %122 4,800
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ot E FFHI 2,000,000 *14] 2,000
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Al 90,000
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T 210,000
Al 90,000
LOISXIAIE SALAL =XI=Y X3 1,551,400 2,283,880 AT737,480
= 310,280
Al 1,241,120
301 LEBNZ 1,551,400 0 1,551,400
& 310,280
Al 1,241,120
14 JIEtE A3 1,551,400 0 1,551,400
OLoI=XAE SAAL sXis=Y K&
1,551,400, 000& * 14| 1,551,400
T 310,280
Al 1,241,120
s =SANAE SG=XHE M 1,700,000 0 1,700,000
401 AIEHIL 20| 1,700,000 1,700,000
01 Al&HI 1,700,000 1,700,000
Ogeds SXAIE SE=XE 24 Al
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EINRYUT |2 SALL FEAS 32,000 35,000 A3,000
201 LEt2AH| 2,000 0 2,000
03 A2 | 2,000 0 2,000
O |2 MNRNE
2,000,000 * 14 2,000
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OFINQLAUI |2 SAIR S22 5
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= 5,250
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Al 4,158
01 At22t2l] 11,880 10,080 1,800
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A= =2X|018=2 A - S EO0HC
HH: Lol =X =3
S SIS XIAIE 2te| (Gt H2)
AT SN FE . B(BH) - HSAY - B ofl vy aET HmE2
d=-FA-85%-8 o 8= = ofl &b S2
OdzE m2)dH 29
48,000, 000& *100% 48,000
OZ2E LoNE B3
14,000,000 *100% 14,000
OZ3=E XeX 22 71,280,000 *100% 71,280
OADIEHZY SAlH| K&
87,000,000& x1A! 87,000
OZrg MIINHEY U B4
10,000,000 *100% 10,000
402 SIZHXHE01 A& 210,000 324,000 A 114,000
01 CIZEXIE A E X (KA THS) 210,000 324,000 A 114,000
Od2Y JIIHHE € 23717 N
210,000, 000& *100% 210,000
A2 T2 2AHH| AI¥ 315,000 315,000 0
& 63,000
Al 252,000
307 21Z2H0| & 315,000 315,000 0
& 63,000
Al 252,000
11 ASISAIAIREEX 315,000 315,000 0
OZ2E Tz 29| X
315,000, 000& *100% 315,000
< 63,000
Al 252,000
KNE=SANER ESH| K& 402,000 396,000 6,000
307 21Z2t0| ™ 402,000 396,000 6,000
11 AISIEXAIEEX 402,000 39,000 6,000
OXESEAMKNER EsHl NE
100, 0002 *335H * 128 *100% 402,000
22E =3 T2 ) SH2UL| X X 109,314 105,639 3,675
= 21,862
Al 87,452
307 S1Zto| & 109,314 105,639 3,675
= 21,862
Al 87,452
11 AISIEXIAIEEX 109,314 105,639 3,675
OZFRLY «=3|Z273 UK X
109,314,000 *100% 109,314
& 21,862
Al 87,452
d2g - B+ S 550,000 633,500 A 133,500
401 AIEHIZLE0HY] 550,000 683,500 A 133,500
01 Al&H| 530,000 683,500 A 153,500
OZ=2Y W2+ 450,000,000 & * 1A 450,000
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03 Al 20HYI 20,000 0 20,000
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== 200,000
Al 200,000
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= 200,000
Al 200,000
O=ds 212 B2Y ME
400,000,000 * 1A 400,000
== 200,000
Al 200,000
TUos £ B2 AE(ESTA
100,000,000 * 1A 100,000
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Al 50,000
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143,000,000 * 14! 143,000
= 71,500
Al 71,500
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Al 24,000
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201 er2 3| 51,000 51,000
01 AtR2tel] 51,000 51,000
OZ2g HHEI| MAAIY (FUIZ A0l
150,000 *340CH 51,000
CoIgAtel H¥EW ASEH 29,314,864 21,989,451 7,325,413
= 14,188,492
Jl 282,940
[ 2,690,998
Al 12,152,434
Corgdxtel & AtslESKIE & 28,376,984 20,933,473 7,443,511
= 14,188,492
< 2,689,798
Al 11,498,694
101 Q1244 7,975,760 6,040,040 1,935,720
= 3,987,880
< 759,122
Al 3,228,758
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OLoledXie] 0 el2it]
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307 S12+01 ™ 20,113,384 14,709,173 5,404,211
2 10,066,692
= 1,901,892
Al 8, 154,800
TS IETEES 20,113,384 14,700,173 5,404,211
OLoIgRel B4 o 2By 20,113,384
o3l 10.817,700,00024* 100% 0,817,700
2 5,408,850
= 1,081,770
Al 4,327,080
o AEI MHIA S 7,245,184,0002 % 100% 7,245,184
2 3,622,592
= 724,518
Al 2,898,074
SNEE 930,840, 00024+ 100% 939,840
2 469,920
= 93,984
Al 375,936
SRR 16,200, 0002 +100% 16,200
2 8,100
= 1,620
Al 6.480
ool N2l SuI|B Weeld
1,004,460,0002* 100% 1,004,460
2 547,230
Al 547,230
100MIAICH 241 UXI2| At 565,880 675,278 £109,398
b 282,940
Al 282,940
307 212H01 565,880 675.278 £109,3%8
| 282,940
Al 282,940
TEESIEEES 565,880 675.278 ~109,3%8




A= =x0e SN FRERID
HH: Lol =X =3
ool LoluNtel HED ASEE (Shol: % 2)
AR RA BB B(S) - MBAY - B Ofl by A HnE2
OT00KIAICH 241 URt2| At Bols
536,300, 00024+ 100% 536,300
p 268,150
Al 268, 150
OT00KIAICH 241 UXt2| Atgl ®Etol2
29,580, 0002 *100% 29,580
p 14,790
Al 14,79
100KIAICH 1241 UXI2| ALY (F &) 2,400 2,400 0
= 1,200
Al 1,200
307 212401 2,400 2,400 0
= 1,200
Al 1,200
1 ABIZXIA X 2,400 2,400 0
OT00KIAICH BI241 URt2| At S
2,400,000 *100% 2,400
= 1,200
Al 1,200
NHAE AILIG2Y 29 33,000 335,300 700
307 Q12401 33,000 305,300 10,700
e EEEEEEES 33,000 305,300 10,700
OAlLIoIZY 29 336,000, 00024+ 100% 33,000
2T0I2 T Al 28,000 35,000 A7,000
307 2I2H0| & 28,000 35,000 A7,000
1 ABIZXIAR X 28,000 35,000 AT,000
OZZolE walg AR X2
28,000, 0002 *100% 28,000
ColuRtel SR 5,600 8,000 A2,400
202 04| 5,600 8,000 A2,400
01 2 oI 5,600 8,000 2,400
O=01t| 20,0002 *42 x703] 5,600
HAAE2Y 1,534,571 6,356,034 A4,821,463
¥z22 29 568,175 1,165,794 597,619
101 Q124 211,779 203, 148 8,631
VSIS EES=EPS 211,779 203,148 8,631
O=org QX2 126,465
oll=a 95, 200262 * 182 122 123,380
S 123,379, 20024 2. 5% 3,085
OBX SJTHI(MZE,B) 2= 81,744
oll=a 104, 80021 134 +60! 81,744
OZE WSOt 219y 3,570
SSIEE 95,2002 x2524*1 2 % 150% 3,570




A= SXgA= A ZZ2E0H
M Lol 5X B
Chel: ZANAER2Y (SH9 H2)
Al = X ol(5 = dMEE =
AR RA - ZB . O9(B) - HRAY - BES ol k4 S HlmE2t
201 er23 | 114,09 105,696 8,400
01 At2teltl 52,760 23,760 29,000
Oggt==H| 32,360
oSN 23 7Y & Xt
3,000,000 14! 3,000
oFHE 4PN 2d 2 MA
100, 000& 4 & 23] 800
oZE NS 37
4,000,000 *14] 4,000
oZE HIY2ZR sS4l
8,000 +60H +23] 960
oXH&EZE oHY 2IE M
1,000,000 %14 1,000
cFESE 29 AEF 7Y
3,000,000 *14] 3,000
oFE33 HHl gxz
500,000& +2CH* 10 10,000
oZeli=gl LUXH At
400,000& =2CH*12& 9,600
OzelE4] 20,400
oFMolY RolHH ES
400,000 *3H A x 122 14,400
ooy sHJ| RAE+
500,000+ 122 6,000
02 3224l 61,336 81,936 220,600
O332= € HAl 12,400
odMIIe3 600,000+ 122 7,200
oXtHEER 1,000,000 *1CH 1,000
S E-pale=t=d 350,000 * 122 4,200
Og =t 4,800
outdr S| |KFRMU
400,000 128 4,800
OAlEEHIS I 34,000
oHEZR xHMlAld 2el
20,000,000 *14] 20,000
oHEEE AL & HHl FAE=H|
5,000,000& *14] 5,000
oHMAEEH RXE=> 1,000,000 %14 1,000
=J|EHEHI AIZ S XIHI
8,000,000& *14] 8,000
OXxtetatel 3,136
o NESit == 700,000& 14 700
oltsit FFU 200,000 «1CH+12& 2,400
oXtsxt AAeag 36,0002+ 1CH 36
Ogdod bieaEA 29
7,000,000 *14] 7,000




A= =xoe=
XXH: L_O]| EIl gI‘_l

;F?_—ii QHATQ%% (SH9 H2)
AR RA - F - O(BIH) - NRAY - BES 0l Ao A CmE==T
202 04| 5,600 6,400 AB00
01 =ZLHOIY| 5,600 6,400 A800
O=LH04HI 5,600
oHDPEF LAY S0
20,0003 x4 +703] 5,600
206 =4I 40,200 44,200 24,000
01 M= HI 40,200 44,200 24,000
OMZHl 40,200
oEEE M| S&F 7Y
5,000,000& «14! 5,000
oR¥ A2 0FY
20,000,000+ 14| 20,000
oZt0|3HE A MEY 7Y
100,000& «12& 1,200
oMzl ¥ 7Y 3,000,000 *14 3,000
o435 e 3,000,00024 %1 4! 3,000
o=0F 9l 16,0002 *500 8,000
401 AIEHIZL SR THY] 190,000 286,400 A96,400
01 A<l 190,000 286,400 296,400
OAl£H] 190,000
oHEEE ANEE dHl € 2=
20,000,000 * 14! 20,000
oSN X MHEHY
20,000,000+ 14| 20,000
oHEZHU(12Y) ST OlF SAt
20,000,000 * 14! 20,000
cdoF (=) NS BLSAt
30,000,000 = 14! 30,000
o¥EZR CTV EHl A
30,000,000 *14] 30,000
oRALER HIH A EH
20,000,000 * 14! 20,000
cHEZR Y BAZA
50,000,000& = 14! 50,000
405 AtatE = 6,500 519,950 /513,450
01 AL ESFH SHI 6,500 519,950 /513,450
Ot & =23 F S 6,500
oll=I 2L 500,000 =4CH 2,000
oQXNMEE 2 1,500,000 *1CH 1,500
o1y 22| 7Y 3,000,000 *1CH 3,000
SIEANE 2F 766,3% 770,590 v/ le
101 1A 33,688 0 33,683
04 JIZtNZ22 NS+ 33,688 0 33,688
Ot IfYy 33,683
S 04,8003 x1H#230&! 24,104




A= =xoe=

Ha: ol =X X
Sl AN 2 (el 8R)
A2 2A B OL(3) - HRAY - B ol ko A RS2
oFg, oxag 104,800+ 124 572 5,974
caf2EE 30,078,0002!#12% 3,610
201 B2y 238,380 259, 180 20,800
01 A2l 73,200 50,000 23,200
Ogprsgt 31,000
o222 N 4,000,0002 14! 4,000
cAREE 7Y 5,000,002 14! 5,000
oI Y HiEl AEE
1,000, 0002 122 12,000
SIIERAREY| 0,000,002+ 14 10,000
SRR 34,800
oRIHY B 400,002 122 4,800
oZIRN 24 S|
400,002 122 4,800
oFIIQIFBIRIChE 1,000, 00021 122 12,000
o3F oY HHIRK 24
900, 00021 122 10,800
oAYAIL OHEBR| CfE
200,002 122 2,400
Om=H| 6.400
oBFAL 2= 200,0002+23] 72 2,800
oZRH(Y) 22X W=y
300, 0002 +231 462 3,600
OSitngH) 1,000
cormBRNt DS 1,000,0002+14] 1,000
02 BB Y| 165. 180 209, 180 A44,000
02222 2 HA 94,780
o®@II23 7,500,002 122 90,000
o AHOIH B SIH] 100,000+ 14} 100
oS 40,0002+ 122 480
SR 00,0002 122 1,200
oXFHIIZ X2l 3,000, 00024%14] 3,000
OAN&ZHIRAY 63,400
SBFAL 24HRIAE B2
10,000,002 14| 10,000
oFI|I Y| AFEE £42
3,000, 0002141 3,000
oI WISE ¥ 22y
40,000,00024 14| 40,000
oz BY +48 200,000 21204 400
SJIEF AIERXIZ 4]
10,000,002 14! 10,000
O&8Hs tist F28Y
7,000,0002!+14] 7,000
e 186,760 186,760 0




SRR

Lol &

- N

22,752,276

D HAANERY (SH9 H2)
AR RA - F - O(BIH) - NRAY - BES 0l Ao A timE=FT
01 THZHI 186,760 186,760 0
OMZHl 186,760
oFtEZ EMM 2
1,500,000& *47|+28] 12,000
oStEZ WSt +&
5,500,000& *471+33] 66,000
ot 2 P
320,000 *42 |+8HK 10,240
oA2LIOH =& P
360,000& 47 [%238] 2,880
oHIRE S HHURESE 7
3,000,000 %41 12,000
o=l ¥ 320,000 23 640
oSEAHZ(LPG) 7 6,500,000& 122 78,000
oJIEt ABF ¢ 5,000,000& 14! 5,000
307 2I2to1 50,000 50,000
02 LB AANHEE 10,000 10,000
Oog ¢dXE= 10,000,000 *100% 10,000
04 DIZFHAIAIZ E X 40,000 40,000 0
O 2MXES 40,000,000 *100% 40,000
401 AlEBIYL LY 179,800 209,800 30,000
01 AlZHI 179,800 209,800 30,000
OAl&H| 179,800
o%tFsEE Wi
5,500,000& *471+38] 66,000
oMt =tolst WA
12,800,000 *47| 51,200
oD WE Wi
3,800, 0002 *47H 15,200
oStz HLHHEY
11,000,000 * 14! 11,000
cZUZTMOIEE WAl
7,500,000 47| 30,000
oZ W Z& MH
800,000& *47|%23] 6,400
402 RIZEAHZ01H 77,768 64,850 12,918
01 BRI S A S E X (XM THR) 77,768 64,850 12,918
Oad =8 S+gA QAEX
77,768,000& *100% 77,768
AN E ESA 200,000 4,419,650 N4,219,650
401 Al&BIL S THYI 200,000 4,419,650 A4,219,650
01 AlZHI 200,000 4,419,650 N4,219,650
OHEIY FAAE EEA
200,000,000 » 14 200,000
el =X & 40,596,523 37,764,192 2,832,331




A= SXeR= A 0 204
M HOHR X S
Rl ZOHR! At EOIET EER=E)
AR .24 A . AA(SH) - HEAIY - HE=2 Of| AFOH ST Hnz=2
SErTArSRt T == B Ofl r =e
& 3,274,518
Al 14,569,729
ZOHC! At &0 & 335,719 355,168 219,449
= 14,839
= 47,422
Al 273,458
ZOHQ! ALK 66,000 80,000 A 14,000
307 2I2+0l ™ 66,000 80,000 A 14,000
11 ASI=SXAIEEE 66,000 80,000 214,000
OIS BEALY
16,000, 0002 *100% 16,000
OO 2E HAKIA
50,000, 0002 *100% 50,000
ZOHRI=X XIJFALY 2Z &I 25,600 26,800 21,200
201 Ler2 | 8,000 8,400 A400
02 23244l 8,000 8,400 2400
OTISES 2 g L& X
8,000,000 14! 8,000
202 Ot 5,600 6,400 A800
01 =LHOLI 5,600 6,400 A800
OZOHI=X HR F&H
20,0002 +4Z +703] 5,600
401 Al&HIZ20HY| 12,000 12,000
01 AlEHI 12,000 12,000
OAIE2 AEHZAI 2 (3HLA)
2,000,000& *22] *37H A 12,000
G&Eoe s XA 21,19 13,948 7,251
= 14,839
& 1,272
Al 5,088
307 gI2tol M 21,19 13,948 7,251
= 14,839
& 1,272
Al 5,088
1 ARRI=SXNAIEE X 21,19 13,948 7,251
Ooig&oe! w=X&
21,199,000 *100% 21,19
= 14,839
& 1,272
Al 5,088
oI HMHWRAIL(0FE) 29 X 80,300 72,000 8,300
= 40,150
Al 40,150
307 2I2+0l ™ 80,300 72,000 8,300




D EAgEA= A B2Z0HQ 0
D el =X sA

D ZOHR! At EOIET

2. 24 - BB O9(30) - HRAY - BAS A 2
= 40,150
Al 40,150
11 AR SXAMEER 80,300 72,000 8,300
OZoHe! oFst 29 80,300,000 *100% 80,300
& 40,150
Al 40,150
THHSGAL 24 20,000 10,800 9,200
= 6,000
Al 14,000
307 gI2tol 20,000 10,800 9,200
= 6,000
Al 14,000
11 Al SXAMEE X 20,000 10,800 9,200
O==0SIA 24 20,000,000 *100% 20,000
& 6,000
Al 14,000
ZOoHQl QAT 20,000 20,000
307 QI2tol ™ 20,000 20,000
11 Al =SXAMSEES 20,000 20,000
OZoHe! elFw=s L I
20,000,000 *100% 20,000
HOopelolAH SN K& 12,000 12,000 0
307 QIZt01A 12,000 12,000
04 CIZISHALAIRIE & 12,000 12,000
OZoHel IHSSH K&
12,000,000 *100% 12,000
ZOHQI =KX 2R3 2ZEds A& 10,620 10,620 0
201 L2 | 10,620 10,620
01 AtR2telt] 10,620 10,620
OZHI=EXIANE =& HdF AAS
70,0002 7 H*33] 1,470
oggdol EsAHlA MBI XS A
AR 3 70,0003 *5%H »23| 700
O =SR2 3 70,0003 *10H+33] 2,100
ORI LXtel At HERRS
70,0002 x5 *13] 350
OZHE=sXd ¥ LEHHR ==1HA2
&2l 100,000& 5 *123| 6,000
ORI XIRAIY &9 80,000 44,000 36,000
307 212+01 A 80,000 44,000 36,000
03 QIRIEHHE2EHIB X 80,000 44,000 36,000
OZOIH 228 X&
80,000, 000& *100% 80,000
ZoHel MEord K& 8,671,292 8,602,457 68,835




A2

L =xoe= SN FRERID
DTN =X EX
DOEONO! MEOIN XY

(Erel: a2
AR .24 A . AA(SH) - HEAIY - HE=2 Of| AFOH ST Hnz=2
STrTATSRtE T == B Ofl &k o se
= 6,011,200
= 1,018,863
Al 1,641,229
HoHIAE =¢ 6,677,239 6,647,127 30,112
= 4,674,067
& 600,951
Al 1,402,221
301 LEtBEF 6,677,239 6,647,127 30,112
= 4,674,067
& 600,951
Al 1,402,221
01 A BE X2 (2 REETE) 6,677,239 6,647,127 30,112
OFeldzg =0 6,677,239,000& 14! 6,677,239
= 4,674,067
& 600,951
Al 1,402,221
U E= (@I ESINE=; 1,271,163 1,239,877 31,286
= 889,814
T 266,944
Al 114,405
301 LetENEZ 1,271,163 1,239,877 31,286
= 889,814
= 206,944
Al 114,405
01 A 2&HSE 2 (FREETR) 1,271,163 1,239,877 31,286
O&M==<Ix) X2
1,271,163,000& 14! 1,271,163
= 889,814
& 206,944
Al 114,405
Hof=H (XA S) X2 639,028 640,693 A1,665
= 447,319
& 134,196
Al 57,513
301 LEHBNEF 639,028 640,693 1,665
= 447,319
& 134,196
Al 57,513
01 A BEAH 2 (RRNEETR) 639,028 640,693 1,665
OZM=Z(Xtae S) X2
639,028,000& * 14! 639,028
= 447,319
& 134,196




Ha: Bl =X BX

2 =xe= SN BRI

‘;9;2 ZoHe! ’é‘%’@@gll% (St &)
Ax - BA - 3 - SAAEA) - HRAY - BES Ofl &4 Oaﬂg% Husz
| Al 57,513
e R K& 58,240 53,760 4,480
== 11,648
Al 46,592
307 212+01& 58,240 53,760 4,480
< 11,648
Al 46,592
11 AMEISXAEEES 58,240 53,760 4,480
OS&sMe R4 XE
58,240,000& *100% 58,240
= 11,648
Al 46,592
ZOHRIXIE otOllHA &2 )| X XI& 4,022 0 4,022
== 804
Al 3,218
301 2= 4,022 0 4,022
== 804
Al 3,218
02 AR 2EH LGS (FHAAS, NLWE) 4,022 0 4,022
OFOHIXIZ GHOITHA EH2| &X| XIS
4,022,000 *14] 4,022
= 804
Al 3,218
SSTY NS EAY 21,600 0 21,600
== 4,320
Al 17,280
301 22N = 21,600 0 21,600
[ 4,320
Al 17,280
02 MBI 2HHSFHS(HAANS, KLHE) 21,600 0 21,600
OSZHONQ! XIS S AL
21,600,000& » 14 21,600
= 4,320
Al 17,280
el ==X S8 235,680 371,488 135,808
= 175,400
= 31,856
Al 28,424
o ei=Hl X 198,000 201,983 A\3,983
= 158,400
S 27,720
Al 11,880
308 AtXIEMSOIH 198,000 201,983 23,983
= 158,400




D EAgEA= A B2Z0HQ 0
D el =X sA

C el 2= Sd (St &)
2.2 B O (B) - NRAY - BES ol by e HDS2
== 27,720
Al 11,880
13 SISO CHSHZ A X R EAISHI 198,000 201,983 N\3,983
O&oielelzHl K& 198,000, 000&! * 100% 198,000
= 158,400
o= 27,720
Al 11,880
ZHopel BXD|0] K| 13,200 16,401 A3,201
= 10,560
o= 528
Al 2,112
301 LEtEXZ 13,200 16,401 A3,201
= 10,560
& 528
Al 2,112
01 AIBIE& X252 (2 DEXTE) 13,200 16,401 A3,201
OZOHe!I EXD(J| K&
13,200,000 *100% 13,200
= 10,560
& 528
Al 2,112
HZ0WE&E 2Hl K& 1,500 1,500 0
& 300
Al 1,200
307 2I2t01 ™ 1,500 1,500 0
L= 300
Al 1,200
01 2z & 3= 1,500 1,500 0
OHIZUEHT 7Yl X
1,500, 000& *100% 1,500
& 300
Al 1,200
MASEOHC! REH| & HAH| K& 4,480 4,480 0
= 2,240
T 448
Al 1,792
307 2I2t01™ 4,480 4,480 0
= 2,240
& 448
Al 1,792
01 2z & 3= 4,480 4,480 0
OMASEOC! REHH| & A XA
4,480,000 *100% 4,480
= 2,240




D EAgEA= A B2Z0HQ 0
D el =X sA

© HoHe 2= BA (SH9 H2)
224 3. B(3H) - ASAY - BAS 0 &y e HIRS2
= 448
Al 1,792
ZHopel HAZEA XA 12,500 11,600 900
& 2,500
Al 10,000
301 EtEXZ 12,500 11,600 900
T 2,500
Al 10,000
02 AIS BEELHS(FHSHS, NSMA) 12,500 0 12,500
O&Ofel A22H& XA
12,500,000 *100% 12,500
= 2,500
Al 10,000
g &Hel SatH|E XI& 6,000 6,000 0
= 4,200
= 360
Al 1,440
301 LEBNZ 6,000 6,000 0
= 4,200
T 360
Al 1,440
01 Al EEE 62 (2DEEEA) 6,000 6,000 0
Od&EC!l S4tHlE K
6,000,000 *100% 6,000
= 4,200
T 360
Al 1,440
Ea=g SISl PN PN 3,305,280 2,125,433 1,179,847
= 2,260,931
T 206,869
Al 837,480
SEHEAMEIA HISH™ AR 1,029,919 768,000 261,919
= 720,943
& 61,795
Al 247,181
308 AXIHHMSOIH 1,029,919 768,000 261,919
= 720,943
& 61,795
Al 247,181
13 I 2SHICHeHE & X ALY 1,029,919 768,000 261,919
OLEHEMEIA HIR™ X
1,029,919, 0002 *100% 1,029,919
= 720,943
== 61,795




e HEE

D el =X sA

CHelr ORI KR ALY

AESE VTR

SHRA(ZA) - HEAMNS - BES

Ofl &F2H

MEE
Ofl &k2h

247,181

FUHESAHIA BIRM X

Mo

=

1

—

,445,000
,011,500

86,700
346,800

961,532

483,468

308 XXIHMSOIA

o

=

1

—

,445,000
,011,500

86,700
346,800

961,532

483,468

1,445,000, 000 *100%

o

=

1

1

—

,445,000

,445,000
,011,500

86,700
346,800

961,532

483,468

LUSESAHHIA BIRMAA

o

=

390,482
273,337
23,429
93,716

295,901

94,581

0

308 AkXI &

>

JIS0IH

[

hoH

390,482
273,337
23,429
93,716

295,901

94,581

18 SIS0t 34 A A A

A&
390,482,000 *100%

390,482

390,482
273,337
23,429
93,716

295,901

94,581

s
Ji

N
2
e
"o
Of
0ge
=
HU
i
=
11
Ho
08
-
0

10,000

100,000

290,000

wW
Slo
=
=
o
>

10,000

100,000

290,000

>
o
I
~
=
e
HT
P

O
ne
ua
03
==
e
=)
of
oQr
=
Hu
P
>
e
Ho
02
>
10

10,000,000 *100%

10,000

10,000

100,000

A90,000

ph
o4
ol
[UG:
o

>
(en)
©
g

2 OHE 111 XA

hoH

=

228,823
114,412
22,882
91,529

228,823

307 212t01™

hoH

228,823
114,412
22,882
91,529

228,823

11 ARIZX A 2=

228,823

228,823




e HEE

—

L ROl =X BT

AR ZAAIS

CEERED
AR .2 - HH . t:}.<,>_|(§|)1|) c NIEAIY - HA S Of| AFOH SEE Hnz=2
Oz gaofel =2+ W 111 NA
228,823,000 x100% 228,823
= 114,412
L= 22,882
Al 91,529
ZESE L =2t O 111 NJA 199,150 0 199,150
= 139,405
L= 11,949
Al 47,7%
307 QI2H0| M 199,150 0 199,150
= 139,405
& 11,949
Al 47,7%
1 ASI=SXAIEE X 199,150 0 199,150
OZEZ ggojel 2 18 111 NA
199, 150,000 *100% 199,150
= 139,405
= 11,949
Al 47,7%
LI FR2AE XA 1,906 0 1,906
= 1,334
= 114
Al 458
308 AXIHMSO0I& 1,906 0 1,906
= 1,334
& 114
Al 458
13 I 2 SOIHeHE & X2 &AL 1,906 0 1,906
OgLHl SRAE X8
1,906,000 *100% 1,906
= 1,334
& 114
Al 458
ZoHe!l X2l At 2,247,954 1,939, 181 308,773
= 1,013,250
& 330,158
Al 904,546
ZOHQI LRt (ML) AL 1,301,046 1,268,710 32,336
= 650,523
& 130,105
Al 520,418
101 eI H| 1,301,046 1,268,710 32,336
= 650,523
L= 130,105




D EAgEA= A B2Z0HQ 0
D el =X sA

D ZOHR! Xl Ar

A2 2N BB O9(3) - HRAY - BES Ofl by A HImEET
Al 520,418
04 JI2ZtHIZ22XSE 1,301,046 1,268,710 32,336
OZOoHeI Y Xt EI(@%HI)XI%
1,301,046,000 & * 14| 1,301,046
= 650,523
& 130,105
Al 520,418
ZOHQI L XE2l (AIZHAI) AFES 266,071 259,570 6,501
= 133,036
& 26,607
Al 106,428
101 Q14| 266,071 259,570 6,501
= 133,036
== 26,607
Al 106,428
M IIZHNZ2E2NESE 266,071 259,570 6,501
OZOHRI LRIl (Al 1|)XI%
266,071,000 14 266,071
= 133,036
== 26,607
Al 106,428
ool X2l (2R LX) A 179,653 121,480 58,173
= 89,827
= 17,965
Al 71,861
101 214d| 179,653 121,480 58,173
= 89,827
= 17,965
Al 71,861
M IIRIMZ2EXsSE 179,653 121,480 58,173
OFoel Lxtel(= IEIPEI)II%
179,653,000 * 14 179,653
= 89,827
T 17,965
Al 71,861
ZOHOI L XE2| (Al ZHEOHCIOFDFAMIFA ) A 93,124 54,669 38,455
= 74,531
T 3,718
Al 14,875
307 QIZt0I™ 93,124 54,669 38,455
= 74,531
= 3,718
Al 14,875
11 AMSISXAEEXR 93,124 54,669 38,455




2 =x08= S ER

= Zojel =X s

CHRlr EOHe Xiel At

AZ - 2A - FB . OI(SH) - NRAY - BES 0 & A HIRE2
OF NI L Xtel (A1 Z 0421 OHOFAHIFA ) K| &
93, 124, 00024+ 100% 93, 124
2 74,531
= 3,718
Al 14,875
HOHOI L KI2l (L BN QB S AR E) ALY 130,667 54,752 75,915
2 65,333
= 13,067
Al 52,267
307 212H01 130,667 54,752 75,915
2 65,333
= 13,067
Al 52,267
TEEFNEEES 130,667 54,752 75,915
OF QI LTI (L LT HALUB S AR E)
X2 130,667, 0002 ¥100% 130,667
2 65,333
= 13,067
Al 52,267
ZoHo!l DEEAZAZ X 180,000 180,000 0
= 9,000
Al 9,000
307 212H01 180,000 180,000 0
= 9,000
Al 9,000
RIS PONETEES 180,000 180,000 0
OFfe IBETFAZ X2
180,000, 0002 100% 180,000
= 90,000
Al 9,000
SSIj 2R L2l A 97,39 0 97,3%
= 48,696
Al 48,697
307 212H01 97,39 0 97,393
= 48,6%
Al 48,697
T EENEEES 97,3 0 97,3
OSSO LAY L2l N
97,398, 0002+ 100% 97,39
= 48,6%
Al 48,697
SRR 45,940 227,137 A181,197
= 4,200
Al 4,740




A= SXgA= A ZZ2E0H
33 Hoe =X s8
Chel: iRl Hosal (SH9 H2)
A 2A - ZB . S(3H) - HIRAY - BAES Ofl Ao Oﬁ]gﬁ HR=2
ZoHe! NtSxH HXIFY 3,000 2,000 1,000
201 er23 | 3,000 2,000 1,000
01 At2teltl 3,000 2,000 1,000
O XSt HEAl 7Y
3,000,000& *100% 3,000
ZOHR! =Xt & HOAIE JHEHAY 28,940 74,340 45,400
201 et 3| 16,440 17,940 21,500
2 3522l 16,440 17,940 21,500
OZUMATESFIAASA ACIAAE T2+
495,000 128 5,940
OZ AN EFRFS 2l HEHE LTS
all 2,500 35021+ 122 10,500
401 AlEBIYL S THYI 12,500 50,000 A37,500
01 Al&HI 12,500 50,000 237,500
OSSAIZE= E0iQ BAAE £X & |X
2e| 2= 12,500, 0002 *100% 12,500
AL QIS H24 A 14,000 80,000 266,000
[ 4,200
Al 9,800
402 RIZEXH20IH 14,000 0 14,000
[ 4,200
Al 9,800
02 QI X2 AL EE(0IETHE) 14,000 0 14,000
OA7E QAL E24 il
14,000,000 * 14} 14,000
< 4,200
Al 9,800
el 2SX#H 12,290,712 11,007,844 1,282,868
= 8,058,198
= 785,703
Al 3,446,811
ZoHel 2#SXE=0 X 11,408,086 10,182,004 1,226,082
= 7,985,660
< 634,485
Al 2,737,941
308 AHXIEMSOIH 11,408,086 10,182,004 1,226,082
= 7,985,660
[ 684,485
Al 2,737,941
18 SIS0t & A AS A 11,408,086 10,182,004 1,226,082
O&ue gsXas2¢
11,408,086,000& » 14 11,408,086
= 7,985,660
[ 684,485




LI
L ROl =X B
DTN BEX

2. 24 - BB O9(30) - HRAY - BAS ol b e HlmS2
| Al 2,737,941
=81 =0 103,626 71,840 31,786
= 72,538
& 6,218
Al 24,870
308 AXIHMSOIH 103,626 71,840 31,786
= 72,538
& 6,218
Al 24,870
13 SJ12S0lICH fee]s] 103,626 71,840 31,786
O&8sExX 103,626,000 & * 14! 103,626
= 72,538
= 6,218
Al 24,870
NS SKA FIANSE(EEX) 475,000 450,000 25,000
& 95,000
Al 380,000
308 AHXIHMSO 475,000 450,000 25,000
= 95,000
Al 380,000
13 12 S0lICH Al 475,000 450,000 25,000
OISR CES
475,000,000& * 14! 475,000
= 95,000
Al 380,000
Zoel SIS FIFAR (XEA) 304,000 304,000
201 LBtz 4,000 4,000
01 AHR2teld 4,000 4,000
Ofg =8 4,000, 0002 *100% 4,000
308 AtX|SHHMS 300,000 300,000
13 I 2S00 st t 8| 300,000 300,000
OZoHel &
300,000, 000& *100% 300,000
ZOHISKIAIE 28 X 12,709,722 12,508,400 201,322
= 4,841,042
& 586,290
Al 7,282,390
Fopelsia 249 1,690,000 1,751,930 261,930
307 2I2+0l™ 1,690,000 1,751,930 261,930
10 At S XAl 1,530,000 1,676,200 A146,200
(OFS{UINES 1,530,000
o&ijel=
1,462,800, 0002 *100% 1,462,800




D EAgEA= A B2Z0HQ 0
D el =X sA
D AMIEXIAIE 28 XA

< £9 (St ®2)
AR .2 - HH . t:}.<,>_|(§|)1|) c NIEAIY - HA S Of| AFOH SEE Hnz=2
SHHQISXIZ PLIAIE 24! X2
67,200, 0002 *100% 67,200
1 ARI=EXAIEE X 160,000 75,730 84,270
OFolel LRHSHA 29 Xd
60,000,000 *100% 60,000
OF0He! =Xi2 AgHl X2
100,000, 0003 *100% 100,000
ZOHUANF=AIL 28 K2 6,114,764 5,929,679 185,085
= 4,280,335
L= 366,886
Al 1,467,543
307 QI2HO| M 6,114,764 5,929,679 185,085
= 4,280,335
& 366,886
Al 1,467,543
10 Al SXAEHE2EHIEX 6,114,764 5,929,679 185,085
OZOR HFAIE 2SXIA (M)
6,114,764,000& *100% 6,114,764
= 4,280,335
= 366,886
Al 1,467,543
ZOHRIAHFAIE HFoE XA 77,688 73,080 4,608
T 15,537
Al 62,151
307 QI2HO| A 77,688 73,080 4,608
& 15,537
Al 62,151
10 Al SXAEHE2EHIEX 77,688 73,080 4,608
OO A=AlE &dEeE X
77,688,000 *100% 77,688
& 15,5637
Al 62,151
ol MATHEAE 2 852,349 872,349 A20,000
307 2I2+0l ™ 852,349 872,349 220,000
10 Al ZXAIEHE2FHIE X 852,349 872,349 220,000
OZ Ol MNATHEAL 22 K& (3MHA)
852,349, 000& *100% 852,349
el SOIAFAIE 2 NZ 214,352 218,352 24,000
307 QI2Hol M 214,352 218,352 24,000
10 Al SXAEHE2EHIEX 214,352 218,352 24,000
ORI EIIHFAIE 2
214,352,000 x100% 214,352
iR SsMEIE 2 552,023 562,023 A 10,000
307 2Iz2+0l™ 552,023 562,023 A 10,000




D EAgEA= A B2Z0HQ 0
D el =X sA

‘;9;2 U =XAIE 28 XA (SH9 H2)
AZ - 2A - FB . OI(SH) - NRAY - BES 0 & A HimE==T
10 Al SXAIEEHE2EHI2x 552,023 562,023 10,000
OZMHISSHEINE 29 X (7HL)
552,023,000 *100% 552,023
Hel2g AIAE X 4,200 4,200 0
< 840
Al 3,360
307 2IZto1 4,200 4,200 0
& 840
Al 3,360
10 Al2ISTIAIEEE 22X 4,200 4,200 0
oeleg AAd 29 X
4,200,000 *100% 4,200
< 840
Al 3,360
TRl F2UESAIE 29 806,888 806,888
307 2I2to1 806,888 806,888
10 AlBISTIAIEEE2EHIEX 806,883 806,888
OO =2AESAIE 22 I (3MHA)
806,888, 0002 *100% 806,888
ME0IS NBHH 22 377,650 382,650 25,000
307 2Itold 377,650 382,650 5,000
10 Al2ISTIAIEEE 22X 377,650 382,650 5,000
Oda0IsSXIJHE 2 X
377,650,000 *100% 377,650
O SAME 29 328,818 328,818
307 2I2t01 328,818 328,818
10 AFBISTIAIEEE2EHIEX 328,818 328,818
Ox=0S9de 298 X&
328,818,000 *100% 328,818
ZOHRISXIAIE BAR =X X2 420,000 420,000 0
[ 84,000
Al 336,000
301 LEIE NS 420,000 420,000 0
< 84,000
Al 336,000
14 IIEt2 83 420,000 420,000 0
OZMASXAIE SAMAL SX=E XIS
420,000,000 *100% 420,000
< 84,000
Al 336,000
AZIEOHR! TGHEXISH 29 42,935 42,935 0
[ 8,587
Al 34,348
307 2Itold 42,935 42,935 0




D EAgEA= A B2Z0HQ 0
D el =X sA
D ZI=XAIE 23 X

(Erel: a2
AR .24 A . AA(SH) - HEAIY - HE=2 Of| AFOH ST Hnz=2
STrTATSRtE T == B Ofl &k o se
& 8,587
Al 34,348
10 Al ZXAIEHE 22X 42,935 42,935 0
OAZHE OOl THIXIME X2
42,935,000 x100% 42,935
& 8,587
Al 34,348
ZoHeotE X2dH 29 127,637 137,637 A 10,000
307 gIzHol 127,637 137,637 A 10,000
10 Al SXAEHE2EHIEX 127,637 127,637 0
OXOCINEXANE 2Y
127,637,000 *100% 127,637
ZoHel ZEaga 2% X 100,891 100,300 591
& 20,178
Al 80,713
307 QI2Hol M 100,891 100,300 591
& 20,178
Al 80,713
10 AlZIEXAEHE2EHIEX 100,891 100,300 591
OF0fo! Sataresl 2%
100,891,000 *100% 100,891
= 20,178
Al 80,713
Zofel HOSRD|=XJMH 2L XA 102,449 96,320 6,129
& 20,490
Al 81,959
307 QI2Hol A 102,449 96,320 6,129
& 20,490
Al 81,959
10 AlRISEXAEHE2EHIEX 102,449 96,320 6,129
OFOQ! BRI SNAME 2 X
102,449,000 *100% 102,449
= 20,490
Al 81,959
SEZHQI NS MEHEH XA 164,267 189,520 N25,253
= 65,707
= 19,712
Al 78,848
307 2I2+0l™ 164,267 189,520 N25,253
= 65,707
& 19,712
Al 78,848
10 AlZISXAEHE2EHIEX 164,267 189,520 A25,253




A= =xoe=
Ha: ZOjo! =X EX

o2l ZojI=XAIE 29 X3 EERCED
AR .24 A . AA(SH) - HEAIY - HE=2 Of| AFOH ST Hnz=2
STrTATSRtE T == B Ofl &k o se

OFOHIXI R MEHE X
164,267,000 *100% 164,267
= 65,707
T 19,712
Al 78,848
SSZHU NS MENH 28 FIOHKR 18,000 0 18,000
& 3,600
Al 14,400
307 QI2tol ™ 18,000 0 18,000
& 3,600
Al 14,400
10 AlZISEXAEHE2EHIEX 18,000 0 18,000
OO X S MEMEH 28 FIHIA
18,000,000 *100% 18,000
& 3,600
Al 14,400
SIS MEME T2 29X 11,000 10,000 1,000
& 2,200
Al 8,800
307 QI2Hol M 11,000 10,000 1,000
& 2,200
Al 8,800
1 ARRI=EXNAIEE X 11,000 0 11,000
OIS MR AMEH T2 2 X
# 11,000,000 *100% 11,000
& 2,200
Al 8,800
MASOH(ZOHCIHFAIE =2 7X) 550,000 450,000 100,000
= 495,000
= 38,500
Al 16,500
301 LBENF 550,000 450,000 100,000
= 495,000
= 38,500
Al 16,500
01 A 2&AH 2 ([ REETR) 550,000 450,000 100,000
OZOLIAFAIE ==Xt MHSH
550,000,000& * 14! 550,000
= 495,000
& 38,500
Al 16,500
ZOHR! At2I=RIDJ[2H SALA MSIHA 28,800 27,000 1,800
T 5,760
Al 23,040




AR =1z SN L ZZE0HOI
M HOHR X S
o2l ZojI=XAIE 29 X3 EERCED
AR .24 A . AA(SH) - HEAIY - HE=2 Of| AFOH ST Hnz=2
STrTATSRtE T == B Ofl &k o se
307 QI2HOl A 28,800 27,000 1,800
& 5,760
Al 23,040
10 Al SXAEHE2EHIEX 28,800 27,000 1,800
OHOA=XI2 SALA M =
28,800, 0002 *100% 28,800
= 5,760
Al 23,040
PNESESL) AP DNE RIS 121,411 2,411 29,000
307 2I2+0l ™ 121,411 2,411 29,000
10 Al ZXAIEHE2FHIE X 121,411 82,411 39,000
OXNHZHA XX AEH 2
121,411,000 *100% 121,411
ZOoHRl =EXAIE 23| 3,600 0 3,600
202 Ot 3,600 3,600
01 =WO4 bl 3,600 3,600
OZOHOI=TIAIE 22IAIY 2% it
20,000 *3H*603] 3,600
HOHQI=KIAIE JIsES 754,224 627,084 127,140
= 377,416
& 263,157
Al 113,651
HOHRIAZ=AIE SIIEED| dEXA 3,044 6,084 A3,040
= 1,826
& 244
Al 974
307 QI2Hol M 3,044 6,084 A3,040
= 1,826
& 244
Al 974
02 QIRHHAAIH B X 3,044 6,084 A3,040
OZOIAHFAIE SIIEED| dEXA
3,044,0002 *100% 3,044
= 1,826
T 244
Al 974
ZOHUANFAIL DISES 751,180 0 751,180
= 375,590
T 262,913
Al 112,677
402 QI2ERH=01 N 751,180 0 751,180
= 375,590
= 262,913
Al 112,677




e HEE
: ZOHRl =X B

D HHA=SXAE JIsSEE EER=E)
A2 RA - FE . O9(SH) - HRAY - BAR A TmET
02 QI2H X2 AN OI&THE) 751,180 0 751,180
OZO0HeIA g Jls2d
751,180, 000& *100% 751,180
= 375,590
= 262,913
112,677
HY2AAUI(FZF0HCI ) 49,896 49,024 872
J|l24dhl 49,896 49,024 872
J|l2dl 49,896 49,024 872
201 Let2IH| 37,656 29,144 8,512
01 AFR22ld| 37,656 29,144 8,512
Oget=gH| 16,920
oRrEA=E 20,0003 x35+12& 720
oARESFALI 700,000 12& 8,400
o T AT 200,000& %43 800
o=20IM= ME 2,000,000 * 14 2,000
oJlEl=&H| 5,000,000& 14! 5,000
O=&tl 20,736
oJ|2gRe 24|
8,000 x27H x8U » 12& 20,736
202 04t 6,000 9,200 A3,200
01 ZLHO4HI 6,000 9,200 A3,200
oJ|l2g! 6,000,000& 14! 6,000
203 YR =&IH| 6,240 6,180 60
M ENSILRF=EH| 6,240 6,180 60
OFAN2ILRFE 520,000 =128 6,240




Al A

=H o
 =SX0A= 25 I SEs
ST
Olse &td & delsd (SH9 H2)
224 3. B(3H) - ASAY - BAS 0 &y e HIRS2
OtsE=1t 104,454,324 96,904,424 7,549,900
= 39,886,653
= 1,789,222
J| 68,315
= 36,507,295
Al 26,202,839
HE OIsSES 45,677,651 44,964,830 712,821
= 9,051,885
g 1,634,420
J| 68,315
& 18,483,835
Al 16,539, 196
Ots2l otd & A2|SA 35,345,106 36,401,072 A1,055,966
= 7,698,933
T 17,338,118
10,308,055
Ols2l oM & ZUEISEAIYE 2HAHY| 30,280 6,000 24,280
201 Let2AY| 25,000 0 25,000
01 AtR2teld| 25,000 0 25,000
O0tsde us 22 & 222 ME S
25,000,000 *14! 25,000
202 04t 3,600 4,000 A400
01 =ZLHM Y| 3,600 4,000 AN400
O0tsd M AR2FE oYl
20,0002 x4ZF x453] 3,600
203 LR =&IH| 1,680 2,000 A320
03 Al F=AHRFAIH| 1,680 2,000 N320
O0tsE= AIME=X 1,680,000 * 14! 1,680
OlSEAt ¥ Ot=s&s XIA 93,070 115,250 N22,180
201 Let2AH| 10,070 12,050 21,980
01 At22teld| 9,870 11,050 21,180
OgdBt=ZH| 1,400
ollgt=84H &2
1,400,000 * 1A 1,400
o2g+Y 8,470
oOlSEXALAAS (AlZEAS]) &
1 70,0002 x7H*103] 4,900
olts= AR &4 =Y
70,0002 x7 H*33| 1,470
oCiEtN=E82M 3o &8 25
70,000& x10H *33| 2,100
2 33294| 200 1,000 A800
O=z=2%H| 20




e EE

A OlSESH

M FHAANS OlsES
cels Olse ot & 2SS (SH9 H2)
AZ - 2A - FB . OI(SH) - NRAY - BES 0 & A HimE==T
oEANMZ USNSSHE 332
200,000 *14] 200
301 LEENS 3,000 3,200 2200
11 SARHIXES 3,000 3,200 2200
OOE0lY &AL EItAH B4t
1,200,000 14! 1,200
OXSotsHE A3E & Ual ZILN 24
1,800,000 *14] 1,800
307 2Ito1H 80,000 100,000 £20,000
04 RIZFHALAISE = 80,000 100,000 20,000
O0iel0le A 22X 80,000,000& *100% 80,000
220t 24 Ad 1,237,500 1,240,000 22,500
307 2I2to1 1,237,500 1,240,000 22,500
1 ARRIEXIASE X 1,237,500 1,240,000 22,500
OZAlots 4 X
9,000 *550% 2502+ 100% 1,237,500
Ots=Aal A 1,066,240 965,600 100,640
< 213,248
Al 852,992
307 2Itold 1,086,240 965,600 100,640
< 213,248
Al 852,992
1 ARRISXIAISE X 1,066,240 965,600 100,640
ogsrs ot X
8,0002*1, 568 x852! x100f% 1,086,240
< 213,248
Al 852,992
NASS M4 aDIs & - S35Y =S4H XY 846,450 741,000 105,450
< 846,450
307 2I2to1 ™ 846,450 741,000 105,450
< 846,450
11 AEISTIAIEE X 846,450 741,000 105,450
Ooshl & &35 =S4Hl XE
9,000 990 952 *100% 846,450
< 846,450
ots=g =04 9,603,666 10,199,342 N5%5,676
= 7,682,933
(= 576,220
Al 1,344,513
301 LELEN S 9,603,666 10,199,342 N5%5,676
= 7,682,933
< 576,220
Al 1,344,513
01 Al EE AL S(FREXH) 9,603,666 10,199,342 N5%5,676




A= =xoe=

A OlSESH

M FHAAS OtSES
cels Olse ot & 2SS (SH9 H2)
Al = £ o|(5 = dET =
AR RA B O9I(30) - HRAY - BaS ol &t e HDS2
Oots+=g =0 9,603,666,000& x 14 9,603,666
= 7,682,933
& 576,220
Al 1,344,513
Sopl==¢ X2 22,430,000 23,015,000 585,000
< 15,701,000
Al 6,729,000
301 LEIENZF 22,430,000 23,015,000 585,000
< 15,701,000
Al 6,729,000
02 AR 2HHSFS(HAAS, XNLHE) 22,430,000 0 22,430,000
O=sIE=g &
22,430,000,000& 14! 22,430,000
< 15,701,000
Al 6,729,000
Otssith ol & T 17,900 19,680 21,780
201 er23| 11,200 13,200 22,000
01 At2tltl 3,000 4,000 A1,000
O0tssiHHe s HAls & E2= MH
3,000,000& %14 3,000
02 S3=gHl 8,200 9,200 21,000
Ootsstth s¢les
50,0002 *6CH+ 123 3,600
O0ts=tt EUS ez Al2c] 4,600
o NHSIHA 100,000 %14 100
oE28a 1,500,0002 %14 1,500
oxtgzAl2eld 3,000,000 %14 3,000
202 04l 6,000 6,480 /480
01 =LH0i 6,000 6,480 480
O0tsEs dRFA ol
20,0002 x5 +603] 6,000
405 THHFSHI 700 700
01 ML ESF SHI 700 700
Ooots=tth 88 7= ¢
700,000 *1CH 700
OISESHERY 28 20,000 20,000 0
= 16,000
< 1,200
Al 2,800
201 er23| 4,500 9,000 24,500
= 3,600
[ 270
Al 630
01 At2teltl 4,500 9,000 24,500




= SALEZ

M OlSESD

HH: FHUAHS OtsES
9l Ol=ol OFF U HP|EX =)
AT 2N - FHB . O(B) - HRAY - AR 0l Aoy A 2
OJ|223Ht| 4,500
cARMSI} N2al
350,000& *63 2,100
= 1,680
== 126
Al 294
<oJ|EF2 g 2,400,000& * 14| 2,400
= 1,920
== 144
Al 336
202 o481 4,000 2,000 2,000
= 3,200
== 240
Al 560
01 ZLHOHI 4,000 2,000 2,000
O0t=sESHE 3 ¢l
4,000,000 * 14| 4,000
= 3,200
= 240
Al 560
301 LEtBNZ 11,500 9,000 2,500
= 9,200
= 690
Al 1,610
01 AIBIBEE A2 (2RNEXM 11,500 9,000 2,500
OAHIA S| 11,500
o9|ZH| 200,000& =103 2,000
= 1,600
= 120
Al 280
oAMbIA A & HEHI
300,000& *103] 3,000
= 2,400
== 180
Al 420
<J|Et XI&HI 6,500,000 * 14| 6,500
= 5,200
== 390
Al 910
OtssAAIE 29 XI& 7,599,309 6,688,706 910,603
= 197,048
g 1,371,620
T 996,124
Al 5,034,517




A= =xoe=

M FAAS OtsE=

A OlSESH

ol Ols=AIAE 28 K& (SH9 H2)
424 - ZH - O9(E) - MRAY - BES ofl & A HDS2
OlSAlE 29 2,001,450 1,940,920 60,530
201 Ler2aY| 7,000 7,000 0
01 At 2teltl 7,000 7,000 0
ON3E Nd= HHEH +5
3,500,000 23] 7,000
307 2IZtol& 1,994,450 1,933,920 60,530
10 AlRISXANEEE 22X 1,994,450 1,933,920 60,530
O0tsAIE 2¢ 1,994,450,0002 »100% 1,994,450
OrS=RAE 28 40,600 46,600 6,000
201 Ler2aY| 6,600 6,600 0
01 Ak 2teltl 6,600 6,600 0
O=8d NS0tsdH Xtz N
550,000 * 10H A+ 1200 & 6,600
307 2IZtolI& 34,000 40,000 26,000
012z & 2=l 10,000 10,000 0
OXIS0ISHIE Ots 22A
10,000,000 14 10,000
1 ARSI SXIAIEE xR 24,000 30,000 26,000
OXlgotsdy 85 2208 &
16,000, 0002 *100% 16,000
OOtS=XIAIE SAH Sg 23Ar
8,000,0002*100% 8,000
MBISRHE KNS (HEAY) 626,204 475,200 151,004
301 LEtEX S 626,204 475,200 151,004
0 AMISRALBLS 626,204 475,200 151,004
OMI=FHE K& 626,204
cARERRE S5
1,000,000 x42 » 12 504,000
CAESRRE IISH
309,600 42 « 15} 13,004
CARSRRE WEH
3,400 x428 250 35,700
CSANISLRY Sl
7,000 »42H*2502 73,500
AEISXIAIE BA SXIs=E(0tS=XI) 215,640 192,720 22,920
< 43,128
Al 172,512
307 2IZtoI& 215,640 192,720 22,920
< 43,128
Al 172,512
10 MISTAIEHE2HHEX 215,640 192,720 22,920
OAIZISXIAIE SA =X (0tS=XI)
215,640, 0002 «100% 215,640
5 43,128
Al 172,512




e EE
Hu: FHoHS 01S2S
c9l: OISEXAIL 2% X

[uins

A OlSESH

AESE VTR

&1 (3l

H) - HIRAY - BES

Ofl &F2H

MEE
Ofl &k2h

RES0tS

0H

SHEIIF(OEE) 22 N

=

Mo

=

492,624
197,048
147,788
147,788

408,060

307 212t01&

Mo

=

492,624
197,048
147,788
147,788

408,060

84,564

ORES0ls 188

10 MeISXAEHE2EHIEX
o
u

oz}
o

123,156, 0002 *40H 2+ 100%

492,624

492,624
197,048
147,788
147,788

408,060

84,564

86,615
17,323
69,292

86,380

235

307 212t01™

in

Al

86,615
17,323
69,292

86,380

235

H

Al

86,615

86,615
17,323
69,292

86,380

235

12,000

12,000

12,000

12,000

g
g0
o
o
*

12 %23 %100%

12,000

12,000

12,000

SRR

=

j—y

,887,600

943,800
471,900
471,900

1,591,200

296,400

307 212t01d

SRR

=

—

,887,600

943,800
471,900
471,900

1,591,200

296,400

OXIS0tsHIE! 2124

10 Al SXIAIEEHE 22|

HL

ES

| Xl

o

1,887,600,000& *100%

Mo

—

—_

,887,600

,887,600

943,800
471,900

1,501,200

296,400




e EE
L FoE 01SEE
L OIS=IAE 2Y X8

A OlSESH

= (Sl &&)
AR .24 A . AA(SH) - HEAIY - HE=2 Of| AFOH ST Hnz=2
SErTArSRt T == B Ofl r =e
| Al 471,900
KS0ots4lE el =Jt XI& 560,305 510,040 50,265
= 112,061
Al 448,244
307 2I2+01 ™ 560,305 510,040 50,265
& 112,061
Al 448,244
10 AlSISXAIEHE2IGHIE 560,305 510,040 50,265
OXI0otsHlE elAdl It X&
560,305,000 *100% 560,305
& 112,061
Al 448,244
XS 0otsdle 22l K& 386,040 375,840 10,200
s 193,020
& 96,510
Al 96,510
307 QI2tol ™ 386,040 375,840 10,200
s 193,020
& 96,510
Al 96,510
10 IS SXAIEHE2EHIEX 386,040 375,840 10,200
OXS0tsdH Jl=23h|
353,040,000 *100% 353,040
= 176,520
& 88,260
Al 88,260
OXSE0tsdH FIt23h|
33,000, 0002 *100% 33,000
s 16,500
& 8,250
Al 8,250
NE0tsdEe 29 =t XN& 30,072 30,072 0
& 6,014
Al 24,058
307 gI2Hol 30,072 30,072 0
= 6,014
Al 24,058
10 Al ZXAIEHE2FHIE X 30,072 30,072 0
OX<otsHle 228l It X
30,072,000 *100% 30,072
& 6,014
Al 24,058
XeotsHEH[S4E] 39,600 44,880 25,280
= 19,800




A= SXgA= 2A  OtSESH
M FHAAS OtSES
tel: OFS=XIAE 28 X (SH9 H2)
AR RA BB B(S) - MBAY - B Ofl by A HmS2
[ 9,900
Al 9,900
307 2Itold 39,600 44,880 15,280
= 19,800
& 9,900
Al 9,900
10 Al2ISTIAIEEE 22X 39,600 44,880 15,280
OXlotsHH[SEE] X2 39,600
oS+=45d A¥ 36,000,000 *100% 36,000
= 18,000
(= 9,000
Al 9,000
cER2YE K& 3,600,000 *100% 3,600
= 1,800
& 900
Al 900
NSotsSHE a8zl N2 280,655 266,099 14,556
< 9,000
Al 271,655
307 2I2to1 280,655 266,099 14,556
< 9,000
Al 271,655
11 AIBIS XM E 280,655 266,099 14,556
OXIotsHE sadgels X
45,000,000& *100% 45,000
< 9,000
Al 36,000
OXlciotsHE SAadeel=d X2 (AHIFt
) 235,655,000 *100% 235,655
KSOotSHIE SAHA 24 K& 50,000 50,000
307 2I2t01 50,000 50,000
10 AFBISTIAIEEE2EHIEX 50,000 50,000
OXIS0tSHE AL BEE X
500, 000& *50 *22| +100% 50,000
NotsHE Sse1e N2 280,656 363,000 N82,344
307 2Itold 280,656 363,000 N82,344
10 Al2ISTIAIEEE2HIEX 280,656 363,000 A82,344
OXlgotsHlE! s K&
1,169, 4002 *200H A+ 128 % 100% 280,656
CIEMSSAIY 2124d] X1 208,000 95,312 112,688
= 104,000
[ 52,000
Al 52,000
307 2Ito1d 208,000 95,312 112,688




A= =xoe=

Hu: HoNE Ot

==
<
el Ol sS=XAIE 23 X2

A OlSESH

&

AESE VTR

SHRA(ZA) - HEAMNS - BES

Ofl &F2H

MEE
Ofl &k2h

SAREY

=

104,000
52,000
52,000

10 MBS XIAIEE
Ootsn=sMg

294l

HT
A

Q1244]

>

o

|
208,000,000 *100%

Mo

=

208,000

208,000
104,000
52,000
52,000

95,312

112,688

| XI&

Mo

=

96,000
16,000

8,000
72,000

40,000

56,000

307 212+01™

SRR

96,000
16,000

8,000
72,000

40,000

56,000

32,000,000 *100%

- T2 I (Al
64,000,000 *100%

Mo

=

96,000
96,000

32,000
16,000
8,000
8,000

64,000

40,000

56,000

Mo

=

280,000
95,000
22,500

162,500

70,000

210,000

401 Al HIZL S 0HYI

Mo

=

240,000
55,000
22,500

162,500

50,000

190,000

01 AlZHI
Ootsn=sMg

OLIEHS = A
HIZ=O})

Hxdl(22gd) Nd
100,000,000 * 14!

AXHI(2I122E) X (Al
140,000,000 * 14!

Mo

240,000

100,000
55,000
22,500
22,500

140,000

50,000

190,000

402 SIZERHE0I M

1]

40,000
40,000

20,000

20,000




e EE

L FHAHEB O

A OlSESH

SRSy 23
tel: OFS=XIAE 28 X (SH9 H2)
AR .24 A . AA(SH) - HEAIY - HE=2 Of| AFOH ST Hnz=2
SErTArSRt T == B Ofl r =e
02 QIR AL B X (01 & THEA) 40,000 20,000 20,000
OUENsESAIY X8I (OIRM72Y) K&
40,000,000& *100% 40,000
s 40,000
CHetHESSHE SAtRL SEE X2 12,000 3,000 9,000
307 QI2H0l A 12,000 3,000 9,000
10 Al SEXAIEHE2ZHIEX 12,000 3,000 9,000
OUENSSHH AL HEEE XA
500,000 »3H +4JH 2 %23 +100% 12,000
CHetH=384dH SALA =022 =2 K& 13,248 6,183 7,085
307 gI2tol ™ 13,248 6,183 7,065
10 AlZISEXAEHE2EHIEX 13,248 6,183 7,065
OUgtHE=s4dEH AR =022 =5 X
& 9,200 2 *4JH 2% 180A1 2H+100% 13,248
FHAANE Ots =X XA 744,790 665,380 79,410
= 440,325
& 69,893
Al 234,572
MHSN 180,000 150,000 30,000
= 162,000
& 12,600
Al 5,400
301 LEBEF 180,000 150,000 30,000
= 162,000
& 12,600
Al 5,400
01 A BE A2 (RREETHA) 180,000 150,000 30,000
OF. Y. I=10] 180,000,000& * 14! 180,000
= 162,000
& 12,600
Al 5,400
ZAHE Xs0ts e NE ALY 6,750 7,300 AB50
= 4,725
& 405
Al 1,620
307 QI2H0| A 6,750 7,300 2550
= 4,725
& 405
Al 1,620
11 ASI=SXAIEEE 6,750 7,300 A550
O3AH XIsots A& K&
6,750,000& *100% 6,750
= 4,725
= 405




eV HEE: A OlEEg
Hu: FoE OlsES
CHSl: FOPNE OIS =X N (cre:xigl)
AT 2N - FHB . O(B) - HRAY - AR 0l Aoy e HIDS2
| Al 1,620
253z Ots XE=g XF AL 342,000 336,000 6,000
= 273,600
& 13,680
Al 54,720
301 LEtENZ 342,000 336,000 6,000
= 273,600
& 13,680
Al 54,720
N EEEEES EEREES ) 342,000 33,000 6,000
O=5Z201S ME4+Y X2
500,000& x57H 122 342,000
= 273,600
== 13,680
Al 54,720
2350ts syl XI& 68,040 34,080 33,960
& 13,608
Al 54,432
301 LEtENZ 68,040 34,080 33,960
T 13,608
Al 54,432
02 ANSIBEEH2(FHLHS, NSME) 68,040 0 68,040
OE&0ts s8Il K&
68,040,000 14! 68,040
= 13,608
Al 54,432
2S0ts et eotd=s XI# 48,000 38,000 10,000
& 9,600
Al 38,400
301 LEtENZ 48,000 38,000 10,000
T 9,600
Al 38,400
02 ASIBEEHS(FHLHS, NSME) 48,000 0 48,000
OE&0ts UetMeotd =z X
250,000& x24H 8 & 48,000
= 9,600
Al 38,400
250ts ANEEHEZ A 100,000 100,000 0
& 20,000
Al 80,000
301 LEtENZ 100,000 100,000 0
T 20,000
Al 80,000
02 ASIBEEHS(HLHS, NYME) 100,000 0 100,000




e EE

A OlSESH

Hu: FoE OlsES
ool oS ols =X A (cre:xigl)
AR RA BB O(SH) - MSAY - BAS 0 &y e HIRS2
OE&0ts XEdzza K&
10,000,000 *10Y 100,000
& 20,000
Al 80,000
AHS Ols JIE<IE K& 1,779,846 978,572 801,274
= 715,579
J| 68,315
= 67,490
Al 978,462
Ny E 2= 1A 660,000 463,800 196,200
301 LEBNZ 660,000 463,800 196,200
02 AISIBEESFZS(HUAHS, NSWE) 660,000 463,800 196,200
OJERE AREXS 660,000
o7Ml 08t 300,000& x5 * 12& 18,000
< 13Al OIBt 400,000 x15H x 122 72,000
o 13Al 0l&t 500,000 x5 = 122 570,000
HIIIEE M20ts2SH| K& 36,000 24,000 12,000
= 25,200
T 2,160
Al 8,640
301 EtEXZ 36,000 24,000 12,000
= 25,200
& 2,160
Al 8,640
01 Al BEE4HS(2DEXNE) 36,000 24,000 12,000
OHNEIHE/E M20ts E3H| XA
1,000,000 x3H + 122 36,000
= 25,200
& 2,160
Al 8,640
Ots23 #edl XA 1,250 0 1,250
= 876
& 374
301 EtEXZ 1,250 0 1,250
= 876
T 374
01 Al BEE 462 (2DEXE) 1,250 0 1,250
O0tsE2 F2Hl X 625,000 *2H 1,250
= 876
= 374
ek - JIYR/E Ots Al2IXl=Hl XI& 6,600 6,600 0
= 4,620
& 3%




eV HEE: A OlEEg
M HoE OlsEs
Ciel FOOHE O JlESS N (ol m2)
AR RA BB O(SH) - MSAY - BAS 0 &y e HIRS2
Al 1,584
301 EEXZ 6,600 0 6,600
= 4,620
& 3%
Al 1,584
01 Al BEE4H2(2DEZE) 6,600 0 6,600
O IIELEOts AelxIgd] XI&
6,600,000 * 14| 6,600
= 4,620
& 3%
Al 1,584
QA0S IIE X (LAHIE) 3,430 2,700 730
J| 2,401
== 206
Al 823
301 EtENZ 3,430 2,700 730
J| 2,401
= 206
Al 823
01 A ERE 462 (2DEXE) 3,430 2,700 730
gedE X2 3,430,000 14 3,430
J| 2,401
T 206
Al 823
QA0S IIE X2 (A0S AREXS) 84,000 86,400 A2,400
J| 58,800
T 5,040
Al 20,160
301 EtEXZ 84,000 86,400 A2,400
J| 58,800
& 5,040
Al 20,160
01 Al BEE4HS(2DEXNE) 84,000 86,400 A2,400
OYLOIE YREES
84,000,000 14! 84,000
J| 58,800
& 5,040
Al 20,160
ekt JIE KR (HHYAOIS AdREXZ) 8,162 16,324 N\8, 162
J| 5,714
& 490
Al 1,958
301 EEXZ 8,162 16,324 N\8,162




eV HEE: A OlEEg
M HoE OlsEs
Ciel FOOHE O JlESS N (ol m2)
A2 .24 ZE . S2(E) - NIRAY - BES ol b e HlmS2
| 5,714
= 490
Al 1,958
01 AISIBE X 2GS (2 UETME) 8,162 16,324 A8,162
OFHOLE YFEE2
8,162,000& » 14! 8,162
| 5,714
& 490
Al 1,958
AAOtE IIE X2 (LLFot2) 2,000 2,000 0
| 1,400
& 120
Al 480
301 LB F 2,000 2,000 0
| 1,400
& 120
Al 480
01 A BEAHZ2(RREETHA) 2,000 2,000 0
OYUA0IE JI= KB (L=
2,000,000 *1H 2,000
| 1,400
& 120
Al 480
OtsZERI2AHE X 978,404 376,748 601,656
= 684,883
& 58,704
Al 234,817
301 LPENSZ 978,404 376,748 601,656
= 684,883
= 58,704
Al 234,817
01 Al B&X2HZ2(2REETA) 978,404 376,748 601,656
OOtsLE X2 H 2 K&
978,404,000& 14 978,404
= 684,883
= 58,704
Al 234,817
CEAEE At 208,600 231,100 A22,500
s 162,800
= 12,210
Al 33,590
FHANE OtsSEAMHIA X 208,600 231,100 A22,500
s 162,800
& 12,210




A= SXeR= 2A : OtsE=s
M FHAUANS OtsE=
SR SEAEE MY (SH &)
M. RA B O9I(S) - ALY - BAS ol &t g HIDS2
Oil ko
Al 33,590
201 Ler2 | 112,800 109,620 3,180
s 89,040
= 6,678
Al 17,082
01 Ar2eltl 18,600 33,420 A 14,820
Oget=2H| 7,500
SARES Y 1,000,000 14 1,000
s 800
= 60
Al 140
oARd 25 FYH|
3,000,000 14 3,000
s 2,400
= 180
Al 420
oAl Y EEESF AU
3,500,000 14 3,500
s 2,800
= 210
Al 490
o284 7,200
o3RS ¥ HFHUIHE EFAY
1,200,000 * 14 1,200
= 960
= 72
Al 168
oHFAMUIOIN =5
2,400,000 *14] 2,400
= 1,920
= 144
Al 336
olif #FHHIM Algd|
3,600,000 14 3,600
s 2,880
= 216
Al 504
ORI&W=H| 3,900
oOl=SEAtdIZelAl RIE =Y
2,400,000 14 2,400
s 1,920
= 144
Al 336
oXMEZRA A WFHI(AIBIFIL
1,500,000 *14] 1,500




eV HEE: A OlEEg
M FoE OlsEs
Hel: EZAEE MY (SH9 H2)
4224 B G9(SH) - AIRAY - BES of v e HIDE2
02 S5=g4l 11,600 14,600 /3,000
O=s2= & HAl 7,000,000+ 14! 7,000
= 5,600
S 420
Al 980
OAIE&Hl sXbl 4,600,000 14| 4,600
= 3,680
< 276
Al 644
03 Ar=EHI 82,600 61,600 21,000
OEEAERE T2 23|
82,600,000& x14] 82,600
= 66,080
< 4,9%
Al 11,564
202 04l 10,800 3,600 7,200
= 5,760
[ 432
Al 4,608
01 SLHoIH 10,800 3,600 7,200
OSHARE FRFA 0HI(AIHIFIH
20,0003 x3& +603] 3,600
OOtSSEAtdI2el Al E2F04bI
150,000 x4 & x123] 7,200
[ 5,760
= 432
Al 1,008
301 EtE N = 85,000 113,680 A\28,680
[ 68,000
= 5,100
Al 11,900
01 Al EEABZ2(2DEEMR) 75,000 99,040 N\24,040
CEAHE Atdl2dl Hdots X3
75,000,000 *14] 75,000
[ 60,000
= 4,500
Al 10,500
11 #AIAMHIXIZ S 10,000 14,640 A4,640
OEEARE T2 I B4
10,000,000 * 14! 10,000
[ 8,000
= 600
Al 1,400
EFE=AST 57,884,930 50,952,215 6,932,715




BENEEE
. BE=XEN

A OlSESH

‘;9;2 oeloldy 24 NE (SH9 H2)
AR .24 A . AA(SH) - HEAIY - HE=2 Of| AFOH ST Hnz=2
SErTArSRt T == B Ofl r =e

= 30,727,952
= 17,933,320
Al 9,223,658
2ol 29 N 21,229,942 18,747,336 2,482,606
= 8,945,063
& 5,491,059
Al 6,793,820
ERYUF FA L EIMY 2l 26,300 35,500 29,200
201 L2 | 9,900 17,100 27,200
01 At 22|l 5,900 13,100 A7,200
OgEt=2H| 1,000
oI ZEUHE0IE B&+=2
1,000,000 * 14! 1,000
Oo2g=d 4,900
CEFHMLRAS FHA Y
70,0003 *14H +53] 4,900
02 23244l 2,000 2,000 0
O8AMZ =380e0ld 32
2,000,000 14! 2,000
03 A2 EH| 2,000 2,000 0
OE=1AA S AHIE 29
2,000,000 14 2,000
202 (4t 5,400 6,000 2600
01 =04 bl 5,400 6,000 A600
OEsEM YRF4 odl
20,0003 x6H *453] 5,400
301 LBENF 6,000 7,000 A1,000
11 HALAHIXIEZ 6,000 7,000 21,000
ONglold udA A &It S
6,000,000 14! 6,000
307 QI2Hol M 5,000 5,400 2400
1 ASI=XAIEE X 5,000 5,400 A400
OE=suAA AolL X
5,000, 0002 *100% 5,000
S0y 24 K& 29,000 29,000
307 gI2tol M 29,000 29,000
10 AlRIZXAIEHE2FHIE X 29,000 29,000
OoFgoaod 29 XA
29,000,000 *100% 29,000
Zelelold XA 12,000 11,500 500
307 QI2Hol A 12,000 11,500 500
" AEI=XAIEE S 12,000 11,500 500
OZelelold T2 A8l X1
250, 0002 *480H 2~ *100% 12,000




HEE
Hal: BR=NST

A OlSESH

‘;9;2 olgloly 248 XI& (SH9 H2)
AR .2 - HH . t:}.<,>_|(§|)1|) c NIEAIY - HA S Of| AFOH SEE Hnz=2
Smo AR e T == B Ofl &k ==
FH2AEN2 2F 215,000 214,000 1,000
201 ZEt2 & 37,000 36,000 1,000
01 AFR2t2ltl 37,000 36,000 1,000
OFHZEAZ Xz
37,000,000& * 14! 37,000
307 212t01 & 178,000 178,000
05 2IZ2tREr = 178,000 178,000
OFHLE=A2 238 XA
70,000, 000& *100% 70,000
OFHZEAZ 23 2124 XI&
36,000,000 *3Z »100% 108,000
SOIEE XM (SE=EXMSHEH) X 520,000 520,000
401 AIEHIZ 2018 520,000 520,000
01 Al&Hl 520,000 520,000
O=FO0ISEXNAMEH 2H £ &Il
520,000,000 14 520,000
ZEA SOISEXNJAMEH A X& 526,640 57,600 469,040
307 gIztol ™ 526,640 57,600 469,040
11 AISISXAIEE X 526,640 57,600 469,040
SRWAL A5 WS
2,500,000 *100% 2,500
OUM Zeld X 45,000,000 *100% 45,000
OESwA otd DIF(AHAME 5)
4,000, 0002 *100% 4,000
O0gold Sextg sotd otd X
475,140,000 *100% 475,140
ZEA SOISEXNJANH 29 X2 266,000 266,000 0
= 25,200
Al 240,800
307 212t01 & 266,000 266,000 0
= 25,200
Al 240,800
10 AlRISXAIEEHE 22X 266,000 266,000 0
OZEA SOISEXEHH 23 K&
126,000,000 *100% 126,000
= 25,200
Al 100,800
OZEA ROIZEXHEH 212 E=Z(
AlBIZ=DH) 140,000, 0002 *100% 140,000
ANZSOISERZEH 22 DIEZSE X2 (R2u= 25,000 25,000 0
A (M EALY)
= 15,000
Al 10,000
307 212t01& 25,000 25,000 0
= 15,000




L =xee=
N 22X S

A OlSESH

‘3%;1 ool 238 (St &)
AT SN FE . B(BH) - HSAY - B ofl vy aET HD=2
d=-FA-d&-8 o 8= = ofl &b s2

Al 10,000
e NEEEEETEES 25,000 25,000 0
ONIFYS KB (L2DS ML)
25,000,000 *100% 25,000
< 15,000
Al 10,000
22E0e0|E SHHI(HEAIY) 966,555 990,000 N23,445
& 850,568
Al 115,987
307 21Z2H0| ™ 966,555 990,000 N23,445
& 850,568
Al 115,987
10 AIZISAIAIEHES2IHIEX 966,555 990,000 N23,445
OBZEORI0IT X2
966,555,000 *100% 966,555
< 850,568
Al 115,987
oglold &= 590,000 0 590,000
= 295,000
c 147,500
Al 147,500
401 AlEH|IZL L C0HYH] 450,000 0 450,000
= 225,000
& 112,500
Al 112,500
01 Al&H| 450,000 0 450,000
O3sFeeI2dd
100,000,000 *30H 2~ 300,000
= 150,000
& 75,000
Al 75,000
O&I|dxie|2de
150,000,000 *1JH 2~ 150,000
= 75,000
= 37,500
Al 37,500
402 SIZHXHE01 A& 140,000 0 140,000
= 70,000
& 35,000
Al 35,000
02 QIZHKIEAIE EX(0IHTHS) 140,000 0 140,000
O 2 MY &3]
100,000, 000& *1IH 2~ *100% 100,000
= 50,000




BENEEE
. BE=XEN

A OlSESH

‘;9;2 oeloldy 24 NE (SH9 H2)
AR .24 A . AA(SH) - HEAIY - HE=2 Of| AFOH ST Hnz=2
SErTArSRt T == B Ofl r =e

& 25,000
Al 25,000
OIJIX T 2 10,000, 0002 *4IH 2 *100% 40,000
= 20,000
T 10,000
Al 10,000
Oelold St A Ot X 64,814 65,495 681
& 4,563
Al 60,251
307 gI2tol 64,814 65,495 A681
& 4,563
Al 60,251
06 283 64,814 65,495 A6B81
ONgloly etdZ Rl It XI&
22,814,000 100% 22,814
T 4,563
Al 18,251
ONelold oHEBH It XIJA(AIBIEI)
42,000,000& *100% 42,000
EOHMl OelolE gl X2 60,000 69,600 A9,600
307 gI2tol ™ 60,000 69,600 A9,600
10 AlZISXAEHE2EHIEX 60,000 69,600 29,600
OEIM(LIE . 2=)0{2I01% Hited] X 60,000
=40210I3t o0l
400, 0002 *407H 2= *100% 16,000
=4121014 60210IGH H2l0l&
600, 0002 *200H 2~ *100% 12,000
=6121014 8021015+ O1210]1&
800, 0002 *15JH 2% 100% 12,000
=812101&F Helol&
1,000, 0002 *207H 2~ *100% 20,000
ZOOIM = Uel0ld MeEXls T2 K& 5,000 5,000
307 QI2Hol A 5,000 5,000
10 Al SXAEHE2EHIEX 5,000 5,000
OHMOINZ U018 MHeEXs 2
A& 5,000, 0002 *100% 5,000
BRUAM H20ME (25 =) 165,000 180,000 A 15,000
307 gI2tol ™ 165,000 180,000 A 15,000
10 AlRIZXAIEHE2FHIE X 165,000 180,000 A 15,000
OESFUWA 2252 165,000
=350/4 2RWAL
30,0003 «80H 122 »100% 28,800
=550(a 2RWAL
50,0002 35 * 122 *100% 21,000




N EE
Hal: BR=NST
SHPl OjRI0IE 2% KR

A OlSESH

NERY VRE-t R

SHRA(ZA) - HEAMNS - BES

Ofl &F2H

MEE
Ofl &k2h

o7H0Ie 2R uAt

=1080la 2R uAt

o15E 014 2R WAt
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